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Ywpuwndh p GJ nL nwwnlwnt uwy wl wnwwnnnt ) wu Jwplunnp
Jowjwpnt ju E, wwptlUwdptpp U wlwulwybp: Nuwunywunrd E
wwl wpnwwune nuGph 2wnpphl: Mwnpnituwyned E 70-90% 9onLp, 1-2%
wpnwthU, dnwn 1% pwnwUpwU) nLpE, 18-28% ou| w, 1-1.2% Unfuhp, huly
Swpwtp hwdwpjw sywl: Lniddnn wsfuwe ntph pwlwynLpE) nLlp
wul2wl E: Mw wph dGg 2wpwn wnwewuntd £ wy U dwdwbwy, Gpp w U
Epyuwn d wd wil wy wwhync d E gwsdn stpdwuwhdwlwy hl
wwj) Juubpne d (0-1°C): Ywpun$h h ww wpubpp wwpnrbwynid U Lwl
A BuCdyhuwwdhulbp [1]:

Uwpun$hr h vptpp JGé6 wpdbp GU UGpLUw wgUnitd npwbu
wbwulbwybp: Oguwgnpéyntd GU hUsgwtu pwnd, wlbwtu £
uhpnuwgdws Jhdwyntd: dnbGpp wwpnrbwyne d GU snp Uy nLpbp’ 20%,
wbwgnwun Epuwpwyuw hu  UynLpbp™ 9%, uwhwwynLglubp® 2.5%,
pwnwlpwl) nNLR 6%, 8wnwtn” 1%, Unfuhp” 3.1%:

Rwjywuwmwuh | GrnUuw hbu 2pgwllbph wlugpnh ww JwulUbGpnod
Ywpun$hr h Jwnwhwu unpwtph Jybgbwwghwlu wluntd E 70-80 op:
NL 2 whwu unpwbiph J & qb unwg hwu wj n unLjl 2nguwblbtph
ww) Jwuubpned wuntd E 140-160 op: Ywpundbhph hUwbGlUupy
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ww, wpwgnjwgnedp wenh E ntuGUuncd hno hu-ognuwnu whhuubphl,
tpp onh estpdwuwhSwup wwwnwlynid E 20-30°C -h uwhdwllbpnoJ:
FRtppwuindnL ) nLlp wgdnLd E 15-20 whuw, hul wnwuadhl
2pguwultbpnud Jdhlg W 30-40 uvh w:

Uwpundh h wpdwwnbbph pwhwugdwlt funpnrpeyniup hnnnod
tnwnwudned £ 60-80ud-h  uwhdwtlUbGpnid, ntwh Unnp npuwup
nwnpwddned GU 35-40ud-h swhny: Uw fwunpblU wbunp E hup yh wnlub|
dhe2wnpwy hu thunbgnedubph funpnLp)ynLtup vwhdwlub nL, hus wau
bwu ulnignedutph QYuwpgp npn2bGine dwdwlwy: Ywnpundh| h
gnnnrultpp dwppwd EU wenLd L wwpwpwn hnnGpnid npuwlg
pwpénpnLp)ntlup hwuuntd E JhUg L 0.7-0.8d-h [3, 20]:

Ywupunbh p Jdté wwhwlg E ULGpUw wgunLd ullnuwujnLpbph
Ujwindwdp: Uy U wuhwdGdww wgt|p h 2wn wgnw, $nudnp L uw hnod E
JGtpgunctd hnnhg, pwlu hwgwhwwhlw hu JwywpniLjubpp: Pwnép
pGppwndnLp)nLl wwwhnybG| nL gnnpénLd, pwgh hwupwy hu
wwnpwpuwwuj nLptphg, U6é UuwlwynLreyntlU ncuh LUwl opguwlwyuwl
wwpwnuwwl ) nLpbph ogumwagnnpénLup: funphnLpn £ mpynod
JjnLpwpwus ynep puncd [ gub 300-400 gpn gndwnp,npp JuwgqunL J E hw-
hu 15-20in: Swlupw) hU wwpwpuwu ) nLtetphg 3w wuwnwunt d Yhpwedne U
GEU wdnUhniLd-Uhwpwwp, wdnUhnod-unt | $wnp, unLtwbpdnudwnp UL
Uw hnt Jwywu wnn:

Uwpundh h, pugwbu Lwlw pnpnp WGuwyh Jpwywpne jubph gwuph
hwpgp npn26GL hu, hwuney nL2wnpnep)yntl wawnp £ nwpdUub gwuph
duh,funpnLpE) wu, duwdwluwyh b funnt @) wu Ypw:

Swuph funpnLrppynLrup npn26 hu wawnp £ huwp yh wnUub| hnnwy hu bW
Urpdw wjwu ww Jwulbbpp, ww wpnubtph JGé&nLpeynLlp, unpuwh
wnwUudlUwhwwnynL ey neUlubpp, gwuph dwdwlwyp, hnnh Jwynt ) wu
npwyp LU wU: vnpnLpEpynLtup wtwp £ hwuglub| 10-12 ud-h, hul
NnL2wgwé guwuph nGwpnLJ® 12-15ud-h:

Swuph dwdwluwyp Lwulb wnwp Yuwlwws E hnnh funbwdnLp) nLUhg
LeGpdwuwhdwluhg: QUwy wé Ywpundh h ww wpubpp uunitd GU & G
3-5°C wwy Jwbubpnid, uwyw U 10°C-hg wwywu ¢tpUnLpe) wl nbwent U
npwup wénLtd GU 2wn nwunuwn: Ywpundh p wawp £ byt , Gpp hnnhp
10ud npnipj wu 26puntd spdwuwh§wlup hwulno U £ 7-8°C-h:



Swuph funnL @) nL Up Ywpgwynpdnce d E w) bwtGu, nn
jnLpwpwus jnep  hGyuwnh Jpw [ hUh 50000 phhg ng  wwywu:
Uhe2wnpw hu vwpwéniL ey ntup wewp £ | huh 65-70ud, Uhgplw) hup®
30-40ud: Ywnundhr h Jnrpwpwus jnep phhlU wtwp £ hwnjwglub| 1500-
3000 ud?ubdwl Juwybpbu [1]:

Rw wuwmwuh  Rwlpwwtwni @) wl Jwpund$hp wgwlu 2pgwllbnh
hnnwy| hdw wywu ww Jwuubpp hhduwywuntd punLpwapyned GU
snpw hu Yyrphdwndy U hnnGph JGé6 fwnip)uwdp: PGppwhwjwph
pUpwgpnL U hnnwpwun funthiph Jpw wnwpuwgws pwn2 wuyphquuwy ned
Uwpund$h h pwuwylt punhwlnrph 2wn phsg unynul E YJuwgunod,
Jlwgws Jwup pwnép wdpnip) wdp fun2npwyn2wn quugywsUu E, nph
wwns unny dudwuwywyhg ypnfuyphs -quhg opquiutinp h yhsdwyh s Gl
upwndhyp | hwndbp qut hnnwyn2wtnphg: Uy n fuunp quuguwsh dh
Jdwup ww, wpuGph htnwtnwhnfune d £ bnfuwunphsnyd UL pwhdne d hnnh
duytpuncjyphlu: Upnynerlupntd ww wpubph qqgw h Jdwup Jduncd E
hnnh wwy’ wnuwtunLpe)wup hwuglbnd UwwtL h UynLrppwywlu JUwu:
Npn2 wuwbuncp)ntulbtp gpwnwunid GU dtnpny hpwywlwglUb|
puwunduwu b ww, wpwhwjwpdwlu gnpépupwgUubpp [46]:

Uwpundhr h JdauwynLrpjwlu whfuungnghwywlu gnnpéplupwgltnhg
wnwUdUwhwwnie y LgwlwynLpE)ntlU nLtuh wuynpnruwm pbppwhwdwph
wwwhnyncdp:

Cwnydwn unwpyws ptppwhwjwpp Junwuguwynp £, pwuh np wp Lwl
ntnbuu wwp bGnwuwyubpphlU ww wpUbph wwhwwlunLpE) wlu fUnhpp
nddwpwuncd E, huy ynpnruwmutGnpp  2wnwunc d: N2 pppwhwjwpn Lu
pnLjLwunbh sE: IR YJuwpundhpwgwlu gnwhutGpntd Juwpundhy h
ptppwhwjwpp wtwnp £ ulbub] ubwwbdptph 2-pn YGuhlu, pwluh np
wnwe hu YGuhu ntrn h2funtd GU wwpqg U wplnw GnwuwylUbpp L
ubUnwujynLrpetph yYnrwvwynedp ww wpubpned 2wpnilbwyyned  E:
Foppwhwjwph dwdybwubpp wewp E  w wuwdnpb] w lbwtbu, np
wa n n wk fulh Y wy wu dwdybGwubpp ¢ huwnd G U, wpR fuwwnwil p h
wmbunnnLpe)ynLtlup swlugUh 10-15 ophg U wjwnpuyh hnywEdptph 10-15-h
uwhdwulUbpniod: Ywpundh h pGppwhwjwpenp wbwrp E Juwwwpbp w U
dwdwuwy, Gpp ww wpubpp hwuntbwgwsd GU U npwup hG2wnLpE) wdp
pUéd)nuLnubphg wupgwnyne U Gl:



Mw wpubpp (w GU wwhyned U phg YUnpnruwmubp GU vw hu, Gpp
npwug pGppwhwjwep Hwuwpyned E snp L w Gnuwuwyhl:
Foppwhwjwph, ww wpwgwugdwsh snpwgdwl, whuwywdnpdwlu UL
thnfuunpduwt  plUpwgpnid wtwp £ funcuwhpb  ww, wplUbph Jupyp
JUwubnLg, pwuh np Udwl ww wplUbpp hG2w GU dJwpwydned
hhquwunncp)yntulutpny U wwhwwudwl pUpwgpnLd JGSwunLd Gl
UnpnLruwubpp:

YUwpuwndh h dwynt ) wu gnpépupwgnL J nwp nwyj hu
wp fuunwuputbphg wdtUhg | wpdwd, wwwnwufuubwwne U wp fuwnwnwp p
pGppwhwjwplU E:QnjnLpeyntbntlutgnn Jipblw wgdwu dhengubnpny
Juwpuwndh wpni lp pwunb| nL, enyb nL, nGnwhnfuG| nL b
wwhGuwmwdnpt nt hwdwn wp fuunwuph punhwunep Sdwrwbpp, UGy hw-h
hup Uny, yuwgdnrJd GU 40-50 Jwnpn-op Jwd Juwpuwndh h wpwwnnpnt @y wu
wdpnng wp fuunwupw hu dwwnedubph 40-60%-p: tw pwgwwnnpyne d E
Upwuny, np dwup hnnwy hU ww Jwulbbtpned Jhbsglb w dd Ywpundh p
hnnhg hwudntd E Ywpundhp whwtu dJGpLtlLwlutpny U hwjwpnLdp
Jwuwnpyno d E dGnpny [18, 39]:

Yupwndh h ptppwhwjuph UbGpGlUw wgdwlu funhpp L nLéGLhu’
UnUuuwpneyuwnplutph U ghwbwywulutph wngl Swnwgb| GU Jh 2wpp
ndqwnnrpynrubbp yuwdws dwup hnnwy hu ww Jwultph hGw, npwtn
2wn nbwptpnid wuhlUwphU E hpwyuwlwgUb] ww wpwgqwugywsh
LhwpndGp qunitd hnnwyn2wtphg: “Mw £ wwwndwnp, np I3-nLd
Uunwndh h Undpw bwy hU pbppwhwduwp ¢ h Yuwquuwybpudnt U:

Ywpuwndh| h° «2-nn hwgh » wpwwnnnt @) wu wwhwlg wnyh
pwjwpwpnnedp W  npwyh pwpédpwgnedp  gjninuwbwbunt @) wu
hwugnLrgwy hu hwngtphg GU, huy uwwpt| wgnpédywsd Jwpwndh| whwl
dpGUwubph uwbnénidp® gyninwunuwtuwywu JGpGlUup hlUntp) wl
Uwplunp hhdUbwhpiunhputnphg dGynp [2, 38]:

bwpundh h Jeptluw wgyws ptppwhwjwph nddwnnipynLlulbnp
Juwjwsé GU w U pwuh hGw, np ww wpubpp guuyntd GU hnnh wvwy:
QnynLp)nLl nLUh Jwpun$h| h pGppwhw]wph 4  Gnuwlwy"
pwunhgutpnd, wluguww, UYndpw Uw hu UL hwdwygdws: Ywpundh| h
dwynt ) wu wg nnuwG fuuh Yy wy wl L $haghwdtfuwth § wy wu
punLpwantph ytppneénipyniup gnejg b wdby,np pGppp Yupt h E



wdpnnendhl hw]wpb| JoptlLw wgywé Gnwbwyny: Lwfu
ww| wpnwhwudwlu htw pwunyntd E hnnh hwdwwwuwnwu fuut 2Gnpwn, huly
hGun qudwlu Jhengnd ww wpubpp wnwudlbwgyntd GU hnnhg:
Unwgyntd E  wwpwlUpw hU  Uwlwynrpjwlt YJwnpundhp: 2ndwl
gnpépUpwgh hpwgnpédwlu nddwnnip)ntup ww Juwbwynpdws E Jh
2wnp gnnpénblutpny, npnughg hhduwywultpl GU° pwundwsd hnnh
quwugywsnLd ww wpnutph 2wwn phg wwnnrlbwyniepe)nitup (2%-hg ng
wjb h), npuwug Swpwhbn qquwnitlt [hubp JGfulhywywl
wgnbgnL ) wup, q ud wiu h wd wn hnnh $haghyuwdtfuwth§wy wlu
hwwnynLpynLrlUlbph (4Un2wwj) UnLpE)nLl, W wuwhynrpe)nel,
dwénLghynLtp)ntlu)ng owwmhdw, | hubp, unbwdnLp) nLtUhg Yuwhu wé
hnnh hwnynL ey necultph Ywupney bndnfunt ) ntup, hnnnetd pwnbph,
wpdwwhpUubph, Jdnpwhunwtph U w Ynnduwyh fuwnlbnLpnubipp
wnyuw nLpE)nLlp [23, 26, 84]:

dnpeghlb 50 mwuphutphlu, hpugwu JGp Gpypned, w bwtu E| Upw
uwhdwulubphg nnipu, upundhp whwjwp wbGfuuhlyw h htwwgnudwl,
ntuntJbwuphpdwl U Uwhwgédwlu nennnirpejwp Juwuownpybp Gl
Jsdwéswjwy wp fjuuwnwuplubp: Upnyneupnid unwgdb GU Uunp, wdbG h
Juwwwnt| wgnpédjws dopbuwubpn, npnup qqgw, hnpGU pwpépwgnb GU
Uwnpnundh h pGppwhwjwph hwdw, hp JGpGlLw) wgdwu Jwywnnwyn:

2wy wu twl h Juwpun$h| wpnt & wywl nuwmGunL ey ntulitph
$GpdGputpp Ywphp neublU, npwbugh dnwn wwwagwy ntd  dawyyh L
wnpuwnpnrpr) wu JdbGe uGpnpdh JdGp ww Jwubbphl hwdwwwnwu fuwd,
wp fuuunt bwy Ywnpundhp whwt wtpuhyw: Une j U wp fuunwpny thnpéd E
wpyned | nLéb wynhunhpp: bwuunGudne d E 2wyt yn2 mwdwlnhy -
thnfuwyphg pwunn opquwu, npny Yhwdw, pdh Ywpun$h| whwlu JGpLuwl
[70]:

cwpnwnnpywén hhdp E hwunhuwuntd punncUbpnt, np unLjl
pGYUwsnL wywl wwnb Lwfununt @) wu pEJwl’ udhpywé
Jupwndh| wpwlnhsh  pwlnn  opqwu  JauwyGpnLl, npp quhg
opqwuutphl ydwwniLgh Jwlp wg J ws L hUwpwynphlu Rhs
hnnwqwugws, wy ddbwywlu E, ntUh ghwnwywlu LU | nLpg wnwnwnpwywl
LgwlwynL ) nLU:



Uwnwpywsd ghuwhnpdlbwywl-nGuwywlu  hGwwgnunep) nLtblUtph
wnnjnerupned wuwp tnwwunerpywlu  &GUu  uGpyw wgynrd hGwbhj w
hhdUwywu npntj pUtnn.

- UG Lwfununt @) wl pGdw) hl JGpwpbtpnn y wunwn 4 wé
ghuwhbGuwgnuwywl  wp fuwnwbputbph  ghuwywlu JGppneéni ) wu
wpnjnLruplUbpp, wnwp wnpyws hhdbwhunhpubph | nLéJdwl Uwwwnwy ny
Lwhwuntuynn hGunwgnune gy ntuubph nunnywédnL ey nLup:

-bdwdw bt b Judwduwqwy hU hnnGpnid Yupundhp h ptppwhwduwph

mGfuun nghwj h Juwuwwpb| wgnndéduwl nLnnnLte)nLulbpp,
wnwp wnyunn pwlunn ongquuh’ Un2 twdwlnhsg -thnfuwyphgs h
Junnrgwsph dauwynidp, wbGfungnghwyuwu L Yuwernigdwspw hl
ufusdwubnp:

-Unnwdwunphg -bnfuyphgnyd Ywpuwndh| whwt Jeptluwutbph hwdw, pJdwl

uygpnLuplbpp, Ynzwwdwlphg-tnfuwynphsh  Yhubdwehjuyuwtu U
Gpypws whwywl wwpwdbwptph hhdbwdnpnodp, owwhJdwp wgJuwl

hup Jwpyh wGunL ) nLlup:
- Ywpuwn$h | whwu dGpGlw) h thhpdwudnL2h G h trwthn n é U wy wu

hGunwgnuniL ey nLulubph b wn tnwnp wy wu thnpdwnpynedubph
wpnjnerupubpUune yGppneénep)nLlnp:

- Unpuwdwluphs -bnfuuyphsnd bwdw pyws Juwnpundhp whwt deptlLw h
nuwnbuwywl wpnynebwjbuwne ) wu hhdbwdnpnio dnp:

1. U8k YhsUMLC B4 I ESU2NSNEF [SUL
LY ruerc

Uwpund$h h wpuwnpnLpe)wlu wthung nghwywlu gnpépupwglutph
hwdw, hpned pGppwhwjwpp wlblUwuwp fmunwunwnlu E, nph | hwndbGp
JoptlUw wgnedp uwwunetd E plbwgwjwnh ghwlwywulubph wbuwywl-
ghuwhpnpdlbwywl hGwnwgnunepy ntubtph wpnyneupbtnph Yhpwnewywu
oguwagnpéddwlp: Ywpundh| h pGppwhwdwph JGpGlw wgdJdwl
hhdUwhiunph LhLéduwlp udhpywé hGwmwgnunLp) ntulubph
wywhywgnt dp uuyby E 1960p.-h U, Gpp ptppwhwdwph
G fuln ngh wy wu gnpéplpwgh JpGlUw wgniLdp Guwwdbg
Gupundhp wnuwp wh  hnnbtph” wjwquwyuwdw hb, Yuwjwdwquw b (BGRU,
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Uhehu, Sdutp), Yuwdw hU (etrlu, vhehl, Sulp) YunnigdwSpw) hl
wwnpnwdbuwnbph hGwm: InntGph dfwuibhjwluwl Jwadp puncpwanyne d E
$haghyuwywl udh wwnnrbwynt pj wdp (10-80%):

Ywpwn $h | whwy wp Undpwj blutph thnpdwnyncdubph
wpn) ntuputbph JdGppneénepe)wdp hwuwnwndbG E, np nppwl ¢npp E
$hghywyuwl Ywdh wwnpnirbwynrp)nrtlup hnnnid, w bpwlu pwnénp E
wwl wplubnh dwppnLp)nLlun pnLuybpned (Ww wpwquwugywsh
hwpwptGnpnLp)ntup wdpnng ptnh quugywshl):

Qupquwgwsé Gpypubpnitd U UM GpypuGph (EFGELwenLupw U
NANLuwuwnwluh Jupundh| wd?2 wydwl gnwhubp)Jd6éd duwunc d Juwpundhy p
hhdbwywuncd dpwydned £ pbtpl vunpdw ht hnnGpnod: Iwy wuwnwlh
hnnw) bt ww JwbubtGplt w UwhuhU GU, np gbpwyznned Gl
wjwgwywJwy hu, dwup ywjwjwqwy hu hnnwwhwtpp, npwtn, hwdwa wy U
ghuwhpnpdlbwywl hGwwgnune py ntubutGph wpnyntupubph, pwgwnyne J
E nunhnbwlupgwnyndpw bw) hu pGppwhwjwpeh Yhpwnniodp:

Innwy hu ww) Jwuubph wgntgnLipeynitup wnwyb| wwbu qqu h E
wwl wpwplbwpwln funthiph up fuwnwlph npwyuwywl wywpuwdGunptnh ypw
pwn2w hu nhdwnpnep) wu JGdwgnL d dwup hnntpnod, hnnwy hu wnh
nGdnpdwghw h pw pwy dul punLjpeh YninfunLpjnil, funtbph
ghfunurnid yuJwjwgwy hu hnntph pwpép funbwynL ey wu nGwpne d U,
nn wdGlwywnpunnpu E, G fubhyuwy h up fuunnt bwynL ) nLlup
pUNLpWgNNn, Ww wpwquwwnn puwunn opqwulbph s whwquug gwsdp
G fuung nghwywu npuwy:

dwdwlbwywyhg ghuwunwnt fubhywy wu gnwywunL ) wu wdj w Ubph
duupwynpyhwm dJGEppneénipyuwdp hwuwnwnyned E, np Iw wuwnwlh
Ruwlpwwtwnt @) wlu Uwpun$h| wd2 wynt @) wlu gnwhutpnod
ptppwhwjwph JGpGLUw wgdwlu hwngbpp UuGpyw nLtdu wtwp E
LnLSddEU uwpundh| whwt dJdGpGlUwubGnh wwl wpwplbwpwlun  puwlnn
opnquwultph Juwuwpb] wgnpéddwl Swlwwwnhny®™ wnwpwln funthGnp
wbwp E hwdw, pdGU yn2 nwdwlnphg -hnfuwyphg pwunn opqwulubtnpny:

cwpwnpywép nennnpnnid E unt) U wnGUwfununt p) wu pEdw) h
gnwy wu wylbwnynp dowyhb hhdbwjuwunc J Jwnund$h| whwd wp
G fubhyuwy h ] Jwuwdp Undpwj UlUGnph dGpehl nwnhUbph
Juwwwnt| wgnpéddwl wnnjnrupubph ybppneénep) wu hhdwu Jpw:
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1.1. YUrsnNShL b FEMLUI UMULP SERLNL NGRUYHUL
ce1ULuYLEre, UhruneGL b SEhRLhUULHUL UbRNSLENLE B4
RUUEBUUSUHUL GLUIR USUNULLC

Yuwnundh| h pEppwhwjwph whfuung nghwywu gnpéplpwgp, wuy wiu
Uhpwndnn G ful h 4 wy wiu dhenglubiphg, UGpwnnod £
ww, wpwhnnwquwugywsh pwunncd, quncd hnnhg, bpGph wlug wnne U
wwy wpnubphg,bptph bpnruwywlu Juwgnpnutph hGnwgnio d, puptph U
w | fwnUnLpnubph wupwunid, ww wpnubph dnfuwnpned pnioulytn
Yuwd pwpédncd thnfuunpwywu vhgngubphl:

Ltpywy ntdu 33-h ptrlL hnnwy hUu ww JwulGpnid gnpdélwywl
UhpwnniLpyntlU wpnn GU gwub] pGppwhwjwph wup wn b Jwuwdp E|
ntLnhn yndpw Lw) hu GnwuwyutGpp:

UtpGtlUw wgdwu dhgnglutph pUwpnipyniup ww Juwbwdnpywé E
muwmbunLpeywu hnnw hu U pUlwyp pdw wywl ww Jwulbbpnd™ hnnh
wbuwynd U pGppwhwjwph 2pguwuntd npw funbwynLp) wdp, nup wh
sgwhtpny b nGLhG&dnd, punbph  wnyuw nip)uwp, YJunpundhyh
gpwnbgpwé punhwunLtp vwpwsnLp) wdp, ptppwnynLp)wdp W wy | U:
Undpw) Up ULwwunwywhwnpdwn E oquuwgnnpéb| pbtrUL W dJhghl
sdwupnLrpjwl hnntpnd nuwpwtpnid, Gpywnp nupwh U Jwpun$h| h
Pwnén pGppuwnynt p) wl nGwentd,  hul 2upunn wh wh
Uwpund$h| whwulutpnp® gpfunbwd hnntpnd dnpp mbnwdwubpnod [67,
83, 84]:

Uwpundh h JGptlw wgdws pLGppwhwjwph U2Jwsd hhdlUwywlu
G fuun nghwy wl gnpéplupwglubphl hwuwnt | Gl pwqUuwphy
tnwp winGuwy ubp ] nwnpGpwyubn: LGpyw nLdu hwj wnuh
Uwpund$h| whwt dJdGptlUwutph L gnpdhplUtnh uygpnrupwy hu
ufudwubpp pGpJwsd GU LY.1.1-nL U:

i
T o fHHV 53 /M//&
wd - ?ﬁ/ﬁ;




LY.2.2. Ywpun$h| whwu JGpGbwubph Wgnpédhplubtph
uygpnLrupw huupdwlutpp.
w-puwunhs,p-putnhs2wpwhg, g -qunn whuh
ww wpwpUwpwlnhs,
n-4gynn wwl wpwg njduwt ubnuwuutnny ww wpwplwpwunhs,
G -ww, wpwplwpwlnhg -pUpwnphs:

uwunphgutpp (@UYy.1.1, wy pwunntd bLGU Jwpundhph dJwnqgbipp,
fuuntd YJuwwp pgtph U hnnh Jhgl, quugdwsp Jwuwdp hwuno d
nuwp wh dwybpbu: NpwGu pwlunnn wp fuwnwupwy h'u onguwu
hhduwywunLtd dwnw) ntd E GpypLwUh hpwlp: U2 fuunwluph ¢ wd wl wy
hpwup wuguntd E 2wnpph JGgwbnny® pwdwlbiny wlU 2 Jwuh:
fuwunbnLg hGuwn ww, wnubpp enlb nL wp fuwnnwupwy hu
Swhwnrdutpp wgunid GU 190-250 Jwpn-dwd/hw, huy Ynpnruwmubpp
hnnntd JhlUsg L 30%, npp s whwquwlg 2 wnk:

fuwunhs2wnpwhsutpp (@UYy.1.1, p) Lbwhwnbudwsd GU  wp fuunG | nL
funbwy hnnGpnod, pwunncd GU Jwpund$hp h pnetdpp U quugdwsp
dwpghg 2wpunitd Yynnp dJGpGlUwh 2wnpddwll nLnnwhw wg
nLnnnLpEj) wlp dhlusl 3,5 J hGnwynpnt phwl Jpuw: U u
Uwpnund$h| whwulUGpp,npwtu uwunlb, Jhwp wpnp GU L wfunyh:

SGhuun nghwywu gnpépupwgp hpwywuwgdned £ hGwby w yepw
pwlnhsh 2wnpddut pUupwgpnitd fnithp Yupned E hnnupbpuwp, npp
funthhg puyut nt wwhhUu ¢ pyned E bW wuunynn _rnuwnph uwuphyubph
dhengnd dnyntd nuwpwh dJdwybpunitjphl: Unwpwluntd E 1,5-3d
Lw unLpjywdp 26npwn, nph dwybtptuphl E hw wudned E ww wpUubnph
hhdUwywlu puwlwynrp)ynrlup: Pwudnplbpp (@@3-18 Jdwnpn) nupunid
wp fuunnte d GU wy bwGu, np wdGU JGUU nLUGLwW 15-25Jd GplwpnL ) wdp
it nwd wu :

Puwlnhs-2wnpwhg utinh wp fuwnwi p p pUpwgpnL U UnpnLuuwnp
hwulunLtd E JhUsl 25%-h, hul ww wpwquwugywsh JUwuydwséne p) wl
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wuwhdwup pwnpénp E hhduwywune d snp hnnGpned wp fuunb | hu: Pwgh
wn, hnnh fpuntwdnLp)wut wwndweny hUwpwdnp sE ww wpUubpp
hwjwpb| wludhpwwtu® puwunhsgh wugnitdhg hGun: Uju whuwh
pwunhsutpny pGppwhwjwph nGwpnt Jd wp fuwnwlupw) hu dwwne dubpnp
gunn whwh Ywnpund$h| whwulubph hwdGdwunnt g wdp 20-25%-ny 2 wwn GU
[60]:

2unn whwh ww wpwpbwpwunhsutbpp (@UY.1.1, gq) pwunnctd Gl
dwpgtpp L puwlndwsé 2Gpup wenwihnfuntd quinn  wp fuunwlupwy hlu
opnqwulutph ypw: Luwunws 2Gpup hptph hGwm JhwuhU wuguncd E
nGwh 2wnwnpwn, hnnp quynitd E, ww wnpUbpp, vptpp U pwnbpp
EL bwuwnphg pwhyntd GU nupwh Jpw: U UunthGwbh puwlbynpUbpp
ww, wnubpp hwjwpnetd GU: Unwdb nddwp ww JwulbbGpned wp fuunnn
Ywpundh| whwultph Jpw hwgnpnwpwn winwyw ynrd LU 2-3
Efr bwunpUbp:

2unn whwh ww wpwpbwpwunhg UGpny wp fuunt | hu wp funwtpw) hl
Swiwnordutpp wnwnwuyned GU 70-130 Juwpn-dwd/hw vwhdwulbGpno Jd®
Juwrwés pGppwinynLp)ntUhg Whnnuwy hdw wywu ww Jwuubphg:

Ugynn wwL wpwgnyUdwlt ubnwulbbtpny ww wpwplwpwunhslUbpp
uy.1.1, n) pnryy GU wvw hu uvnwlw wwhwugynn pwndpnpuy
Uupwndhr:  Mw wplUbpp  Lgwdnpyncd Gl wwnybph  Qud
qudpjnunutph dbGg:Upwlug wnwybG| nLpyncup wybE,np pwuynplbiph
wp fuunwupwy hu ww) Jwuubpp hwdtdwuowpwn ptpl GU, ww wpubph
JUwudwsdnt @) wlu wuwhdwup® gwédn: Uju dopGlUwubpp
Lwwunwywhwnpdwn  E ogunwgnpét| hwnjwwytu pLrUL hnnGpnod”
J wn wh wu L ubpdwgnt Jwpundhy h pGppwhwduwph hwdwn:
U2 fuwnnwpwy hu Swpwnrdutnp, dynLu ww| wpnwhwulUtnh
hwdGdwunep) wdp, ywpnn 6L LJwqb| 20-30 %-ny:

Mw| wpnwplbwpwlunhs -pdpwdnphsbpp (UY.12.1, &), npwtu JYuwunl,
nLUGU [ pwgnLrghg hwnpdwpwup® JdGpbtluw hg dnpbGpp hGnwglUb| nL
huwdwnpn W punpw twywu ¢ynfuunphsubp® quwugywshg 2, 4 Jwd 6
pUdpup wnpbp wgdwdnpt nt hwdwp: Uy uwhuh JpbGluwl (YKB-2) nL Uh
wp fuunwlu ph pwnédp wpuwnpnnwywunepE) nt U, hus weu Lwlh wwywhndne U
E GpUdwg yUndpw Uw hUu pEppwhwjwp: YKB-2 JbGpGtlUw h hGuwuluhg
ww, wnubGpp dbnpny hwjwpbt| hu® wj L depGlUwubph
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hwdGdwwnt p) wdp wp fuunwupw) hu dwhwnLrdutpp UwgniL J GU 30-50%-
ny [33, 84, 104]:

cwnbpypuGpnid, Juubwynpwwtu WUL-nLd, [ w U hpwnrnLe)ynel
GUgwt hwwney ww, wpwhwjwp Joptuwlubpp, npnup LwhuwnGuy ws Gl
pwgwnwwbu pdpw wnphg wyw wpubpp hwjwpb| nL hwdwn:

Lzatup, np puwunhg-2wpwhg JGpGlUwubpp hhduUwjuwunc J
pnnupyynLd GU Jhup wpp, pwuh np pulinhs h ypw nmbnuwyw) Jws 2-nn
nnunpny wnwe hu 2wnph hwudwéd ww, wpubpp dwdydne d Gu:

GLubny 2wpwnpywshg® JuwuwntGlup dwdwuwywyhg
Jwpuwnd$h| whwulbtph hwdGJwwnwywu JGpp nténLp) nL :

KTH-1A nnunpw hU Jwpun$hp whwup (@U©Y.1.2, p) LwpuwunGuyws E
gtpfunbwy hnnGpnitd wp fuunG| nL hwdwp: UGpGLuwlu gngwynp funthny
(2 pwunncd E ww, wpwpnrUdpp L quugwsdp wnw hu wunwynn ghuhg hl
(11): dbpgohlUu Jwupwglunctd E wnuwp bpup L ww wpnubph hGwn JhwuhpU
2upunid nup wh dwybpunt ) ph ypw:

KCT-1,4 Ef bwunnpw hl, Wwn waq nGdhuh, Uhuwywfunyh
Uwpuwund$h whwup @U©Y.2.2, g) ULwwnbudws £ wjwqw) hu L funlwy
wnpdw hu hnnGpned wp fuwnG nt hwdwp: Funuwgwé £ wpwg ntdhdh
GpGp wywhy fntphg (5) (UY.1.2, n), hhduwyuwtu (8) L Yuwuywnwy hu (6)
Ef bwinnpUbphg, pupwgpw hu (©) U hGUwpwuw hu (B) wuhyutnhg:
Swurwudnn funtpbpl huwGUuhy YyGpwnd dwupned GU Yynawbpp L s GU
gbfuninynLtd, nph 2unphhy quwuqgwép ELlUwwnnph wnglUuntd sh
Unruwwydne d: Ubnwg hl Ef bwwnpp (UY.1.2, 6) 2wpddned £ wyb h JG6
wpwanrp)wdp, pwu fundgp, wn wuwnsweny dwunnegdnn hnnup Gpun
dwwnrgyned E EfbwunphU U Jwnyned: 33 -h Jwpundh| wgnndwywl
2npgwulubpnid, U2dws hnnw hu  ww Jwulubph pwgwyw) niE) wl
wwwnd wnny, wy u wpundh| whwup s h oguwgnpéync U [6]:




LY.1.2. Ywpundh| whwllbtph wbGfuun nghwywu upuedwubpp W
wp fuunwupwy hu opguwulubpp.

w-yuwnundh h pthh s whwgnet ghg Ubpp (BU H-pUh g whtipp), p

-KTH-1A pwunhs h upltdwl, g-KCT-1,4 pwunhs h upjutdwu. 1-
nnwnn, 2-gngwdnp funth, 3-hGLwpwuwy hU wuhy, 4-funpnt @) wl

Ywpgwnpdwl wwnt vnwywy hu JGfuwuhqd, 5-hwpp fun i, 6-

wpwauwp wnd £ bwunp, 7-E hwuwéd b pwhwhwnhs utn, 8-
hhdUwywu Ef bwwnp, 9-pupwgpw hU wuhy, 10-wuwnw) hlu

Er bwuwnp, 11-Jwhwuphy, n-wywhy funthtp, G- Lbwwnnp ™ 1-

L hubn, 2-wpunwytUwmpnuubp, 3-2 wpdwpl, 4-funthtn, 5-
hGuwnwnéd Jwwntn, 6-2 npw, 7-g| wuywy, 8-ynuwl, 9-4nn, 10-
wwi wn, 11-pwn:

KTH-26 E| bwunpw) hU Jwpun$h| whwup UY.1.3-w, p) Uwhuwwnt uy wé
E ptprlU, dhehUu UL JhUslb 27% funlbwynLp)wdp édwupn hnnGpnod
wp fuunG | Nt hwdwp: UGpGLwlu JGY pupwgph dwdwlwy pwunncd £ 0,7d
dhe2wnpw hu hGnwdnpnLrpejwdp Gpynt 2wnpp: Punugws £ wwuhy
fnthtphg (1), hpdbwyuwu (2 L Yuwuluwnw pu @) EfLbwnnplUbphg,
nwnwtynn  Jdwnhg  (4), 2pgwlwyhg, Yuwungh hwdwywnghg,
hGLUwpwuw) hu wuhyubphg U 2wnpdwhwnnpn JGluwuhquhg, npp
2wpdnutdp  uwwuntd E mpwyuwunph  IUL-hg: SGhunp nghwywu
gnnpépbupwgp Udwu £ KCT-14 dGptlUw hU, Jhw U wyuwntn  Jwuywnuwy hl
EL bwwnphg ¢ghpbpp W ww wpubpp L gyntd GU vwwnwuynn dwnh Jpuw,
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LpwgnLghsg quyntd hnnhg L pwhynLd gGwuhl: UGpGLUwlu phs E
ogunwgnpédyntd IR Juwpundhp wgnpsdwywl gnwhlubpnie d: 3wy wlwp wn
wuhpwdG2wn Y huph dJdGptlUwh fnhGpp hwdw, ptp nphlLUwdhywywu
ubgpniupny  upfuwumnn  ww wpwwnwdwuphgnd:  Wu  funhpp
Unhwwnydh wintLwhununt ) wu G u wy wu ] g h wnwthn pé Uwy wu
hGuwgnunLp)nLtuUtph pwdhbulbpno J:

LY.1.3. wrKTH-26 uwpun$h| whwluh punhwunL p wmGupp, p-KTH-2b
Jwpundh| whwluh wtfuln nghwywu ufuG Jwl.
1-funth,23-hhdbwywu b juwuwnwy hu E| bwwnnplubp, 4-nwnwl ynn
dwn,5Epwyuwd b wuwnwuhy:
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KTH-2 Juwpun$h| whwup Ywundh E, Gplyzwnp, Lwhuwnbuyws E
Jupquwquugwsp  pulnbint,  ww wpubpp  tnbphg  Juwuwdp
wnwlUdlbwgUb| nL ] hnnh dwybpbGuhu thnb nL hwdwn:
YUwpund$h| whwlup pungpyncd £ 70 ud Jhe2wppw hu [ wyUnLp)wdp 2
2wnp: KTH-2 Jwnpun$h| whwluh wp fuwnwlupp Juwunwpyned E hGwlg wy
UGpw: UGpGLUw h 2wpddwl cwdwuwy funthtpp pwunned GU Jwpgbpp L
hnnh, ww wpUutph, tnptph fwnp quugwsp funttph  dpw ny
pwpdpwgdned £ wnwe hlU hhdbwywu E| bwunnph ypw, npwtn uwpne
nwnwbnnuwyuwu  2wnddwlu  2Uunphhy hnnh hhdbwywu quugdwsp
dwundncd E,huly ww, wputpune bhptpp LW hnnh Juwgwé Jwup wugunc J
GUuwulywnw) hU Ef bwwnph ypw:3nnh ynawbEph Uh Jwup yppynLd £ L
ELGdwunph 2wpddwlup gnigplupwg dwnynid: dnptpp, ww wpubipp W
hnnh sdepwsé Ynawbpp yuuwnw) hu Ef bwwnnphg puuncd GU hnnh
duytpGuhU,npwtnhg yupun$hy p hwjwpynLtJd E dGnpny [61]:

1960pr.-hg wy u UGptLwl pnnwnpyyne d E KTH-2M JwyUh2 ny, npp KTH-
2-hg  wwpptpyntd E Juuywnw hu  ELLwuwnph  Gwhl dJwuncd
menwyw) Jwsé gugnn ptp Jdwnny: Uyn dJdwnh Jpwnd uvwhbGny’
ww, wpnuGplt puyuncd 6GU hnnh JwybGpuphl, nph hGwbwupny
UnpnLruwubpp LJwgne J GL:

KTN-2 W TOK-2 jwpundh| whwuhsubpp Gpywppe GU, Ef bwunpwy hu
whwh, yuwpund$h| wdwngp pwunnetd bW dnned GU hnnh JwybGpGuhU: KTH-2
JGptUw) hg mwpptpyned GU Upwuny,np Ygndh Gl:

KKW-1  Jupundh| whuwthsgp  (UY. 14) dJhupuwnpp, Juwmunyh,
Efr bwionpwy hu whwh E, npp wpuwne d £ OCW-14 hupbwglwg 2wuuhhg:
UtptlUwlt ULwhwwnbudws E ng JGS hnnuwdwubtphg 60 U  70ud
dhe2wnpw hu [wUnLtpejwdp wnujws Jwpundbhpp hwubpnt hwlwn:
Ubpblbwlt Ywpnn E wfuwnb] YJuwpundhp h dJepGlUw wywlu wlulyws
nuwpuwnid, hUswtu ULUwlu Yynipwhdwwnpnd nL gnrpwund wulywé
nupuned, Gpbt Jhgownpw hU [ wlnLpjwl 26Gnnutdp nnLpu sE
phL ) L wnnywsh uwhdwulubphg (£ 5ud):

Uu Jwpundh whwuhsh wnwG nLp)yntUlb wu E, np nLtUh wwnq
Junnrgdwsp: UbptlLwl vwwuwnyned £ JEGY wpwywnphuwm: UGpGlLwl
nLuh pwnpédp dwbbupwy UnLpeynetlt U hwdGdwuwnwpwnp ng U666 quugduws:
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Ftppwhwjwpp ulubinrg wnwe YJuwuwndned GU  wbhiuhywywu
uwwuwnydwlu pnp np wp fuunnwupubpp [99]:

LY.1.4. KKW-1 Ywpun$h| whwuhs h wGfuung nghwywlu ufus Jdwl.

1-funth, 2-hhJdUwywu Ef bwwnn, 3-gughg , 4-punbplyw Lwywl

EL bwwnp,5-pwpépwgdwl JGfuwwuhgqdh | hubin, 6- h$waplutin, 7-
pwpépwgdwl JGfwhghdh | hutin, 8-wyunt tnwy, 9-pwpédpwgdwl 2 nRpw:

U2 fuunwu pp JuwmwpynLd E htuwly wi UGpw  wwhwlpynn
funpniLp) wu ypwwbtnuwyuw Jws funthp, wgptiqunh 2wpddwl pupuwgpnt U,
puwunntd E ww wpwpnidpp L quwugdwsp thnfuwtigne d Gplw Lwywl
EL bwuwnphU: Ugpbquwh U Ef bwunph hwdplUpwg wpwqgnLpe) nLulubph
nwnpbpneppjywu 2Uunphhy wep dppdned E W hnnh hhdUwywu
quwugwsp dwndned £ Ef bwunphg: 3Innh dppdGrntl U JwnybGpnLl
Lwwuwned GEU wEnwywy Jws ELhwuwdl gughsubpp: Innh JlUwgwd
quugywsédp, ww wpubnpp, thptpp Gpyw Lbwywl EL Lbwnnphg wugunc d Gl
punp w bwywuhU: Uyuwmen hnnp | pwgnLtghsg dwnyncd E, huy Juwgwé
quwugywspn® hnnh Jh Jwup, ww wpubpp, bpbGpp ubn dwwwjbtluny
2upudned GU hnnh JwybpGuhlU: U fmunwuphg wnwe hUplLwglwg
wuuhh  wuhdubpp wbuvp E  winuwyuw G nuynn wqgpbguwuwh
wuywhGuwnphU hwd wwwunwu fu

KWH-1 Juwpwndh| whuwthgp (UY.1.5) dhupwnp, Ywhinyh, 2uwpunn
(nnunph) whwh E: Lwruwnbudwéd £ ng U666 hnnwdwubtphg U pwppwnnwn

hnntphg Jwpundh| p hwub| nL hwdwn: cwpunn wih wh
Ywpund$h| whwuhsUbph wnwybG nteynetUb wy U E, np dwlup hnnGpnod
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wp fuunG | hu quugywésp [w unLtpejwdp 2wpuyned £, ww wpubph JGé
Jwup hw wuyned £ nupwh dwybplunc ) phU, ynpnruwmutnp tdwgne d
Gu:

LY.1.5. KWWH-1 wiundh wpun$h| whwlhs h wmGfuun nghwywu u fuG Jwu.
I-Jwpnwlbwy hu [ hubtn, 2-dwwnbtn, 3-ywuquuwyltn, 4-thn fuwtg Jdwl
wnnt th, 5-2 pgwiiwy, 6-funth, 7-2wypwnn Gnwuhyubp (Rnwnn), 8-
hGUwpwuw) hU wuhy, 9-§w nL Lwy, 10-funthh ywuqgqLwy:

KWH-1 wpun$hp whwuhsp Lwuwnbudwés E hhdUwywunctd 60 ud
Uhe2wnpw hUu fwUntpejwp  Yuwpundhph nupunid up fuunt| nt
hwd wn [18]:

Mnn$tunp U.U. Uwhuwy ) wuh U wunwn wé g h wnwthn né L wy wu
hGwwgnunep) ntuuGph wpnynerupubph hhdwu ypw nwnwnbgyb E
Uwpundh| whwjwp Yndpwy bubph UGpypnedp RI3: Unwpwnyyby £ JGnp
hwupwwtunLpp)ynrtuntd Yhpwebt Jhw U jwpundh| whwu JeptlLwlbp:

Uwpundh| whwulutnph W yndpw UUGph pwlunhsg onpgwulubtnph Ytnpp
Ugdwé hwdtdwunwywlu dJGppneénipynitlup gnijg E ww hu, np
Rwy wuwnwlh Rwlpuwwt wnt @) wu Juwpund$h| wd2 wynt @) wl
nwpwspubpne d G fuun | nghwy wu gnnéplbpwgh h wd & J wunwp wn
Lwjwgne U npwy E wwwhnynrd KTH-26 wpun$h|p whwup, npp U
puwpyty E npwtu Juwuwpbpwgnpédws Juwpundh|p whwuh Jhuwy
U wiuwunh wy;
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1.2. YursSnN$hL UR UMUL SERLhYU3k IESu2nsSnr [ESNrFLuerh
JdGrLnrE'enr @SNFLL

Uwpundh| whwt dJGptLUwubph Yuwenigdwsph L  wp fuunwlph
dGprnténLpyntbhg wwng nwpdwd, np wlbhpwdb2wn E npuwup
Juwwwnt| wgnpéb| : Swnjwwbu 262wp wewnp £ nub] ww wpwhnnw hl
quugyuwsh quduwl gnpépupwgh Ypu:

NALgpbGuunwuh Gpynt ghuwywlu YyGuwpnulubpne d (YaM3U L KN3N)
L w U ghuwwhGuwgnuwywl wp fuuwnwuplubp GU nwnpynt d Jwpuwn$h| whwl
JGpbluwlubph  Jwulbwynpuwwtu KTH-2B-h wGiun nghwywu gnpéplupwgh
pwpbp wjJdwlu nLnnnLp) wdp [70, 71, 72, 74, 76]:

NLgptGlyuuwuh, hug wbu U Iw wuwnwuh Ywpundhp wgwlu hnnwy hu
nwpwspubpp hhduwywuntd wsph GUu puluncd dJdhehlU UL Sdwup
uJwjwgwy hu hnnwwhwtpny: PGppwhwjwph dwdwlwyup ngwlunt d
hnntph fmtwynL ey nLup nwnwuyne d £ 8-12%-h uwhdwulbpned: Uju
ww) Jwuubpned Ynpwbpp pw pwnn nudp wbwp £ | huh 600-1000U:
Rwuywuw, h E, np wn nGwpntd JGfuwwuhlywywlt wgnbgnLpe) wu
Ljwndwdp qqwyntt ww wpubpp YJUwuygtGlU: “pwlg wdpniE) wl
uwhdwlup hnnwyn2wbph hwdtdwwngnpbpt ypyuwyh gwsdn k:

JdppnLéblup nLqpby ghwuwywulubn® T.NhUnps wlh L
d.n.Lnps wuh Unnuhg U wunwn J wé hGunwgnunL ) nLulbtnh
wpn) ntuplubpnp:

Uju ghnbwywulbbpp, hug wbu bwlw U. S. Sn2pn nwup gpwnync d
Gl wn J wuinwww| wpwwwne nubnph pGppwhwdwph JGpGlUwubph
Ywuwwnb | wgnpdéduwl hwpgtnny: ALunctdlbwuhpb Gl npwug
Yunnrgdwspp, hhdbwywlu wnwudlUwhwwnynLpynelblbbpp, wp fuwnwuph
uygpnrupp: ULbpyw wgpb| GU wn JGpbuwubph hhdUwywu
ny) w uGpp ] gh wnwhn pé bUwy wu hGunwgnunL ) nLulbph
wpn) ntupubpnp:

U. S. Snapn vnwth Yynnuhg hwuwnwnb] E, np wp fuunwbpw hu
ongwulutpny pwlundnn ww wpwhnnwy ht 26Gpwh Jdwupnodp U
thhunGgdwl pwpédp wuwhdwuh wwywhnynedp hwdwnpdned GU ng dhwy U
pGppwhwjwph JGptlUw h wpfuwnwlph npwyh | wjwgdut, wypl

20



Yunnrgdwsph wwnqgbgdwl Uwhuunpj wy : dfunbgdwl L Yn2wbnh
JwlpdJduwl wnnjnLrlbwjGunLpe)nLlp U whu] wé E dpGluw h
wGfuung nghwywu gnpépbpwgh uygpnLtd ww wpnwhnnw) hu quugdwsh
dpw up fuunwupw h opqwuutph wgnbgnLpe) wu humtUuhynLp) nLlhg
[77, 78]:

La2qwsé ghwbwywuh Ynndhg ULwhwgddb, wwunpuwuuwndb]p U
thnpdwnpydb; E  wpdwnwwyw wpwwine nuGph pwlunhsg, nplu nLUhp
2npednn we U dwhu hpwultp Ywd putp @@, 2): EpynL hpwulubph dJhglu
mGnwyw) Jws GU pwunhs funthtpp (3, 4) (LY.1.6): unthtph ypw wdpwgyws
GU we LU dwhu wunnLrwrwyny 2utyutp (5, 6), npnup hnnwquwugdwdnp
thnfuwigne d GU EL bwwnnphU (7):

LY. 1.6. Undwunwww, wpwwyunnt nubGph pGppwhwjwph thnpé bwy wu
JpGlwy h upuGJuw.
1,2-Cpgynn we Lédwhu hpwulbnp, 3,4-pwnhs funthap,5,6-2ukyubn,
7-£1 Lbwwnp,
8, -wuwhdwlwdnp dnnwynn Jwnbn:

Ubpblw h wp fuwnwuph uygpnirlbpp Jw wuned E hGwl) w nod.
wnwg plpwg 2wnddwl dwdwlbwy ww wpnubnpp pwunyned GU wdbGUwfunp
2tpwbphg W hnnh hGwnm2pgdbrny Lgyntd GU hwpbuwlu Jwpgh Ypuw:
funthtph Jhgngny hnnuptpup pwunyntd E U Juwuwdp v npynLd:
Mw, wpwhnnwy ht quugywsp dJwwnrgyned E 2ubyubphlu, npnlup
hpwjwuwgunctd GU npw Jdwupnctd U ¢nfuwunpned Ep bwwnnph dpuw
Stnupwpndytndy Efbwwnph ypw qujws ww wpubplu puyuncd GU
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wuwhdwlwdnp dwntph (B8, 9 dpw, npnup bjwgbguntd GU wuydwl
wpwanrp)nLup,pwnénpnreyniup bww wpnubph Juwudwl wuwhé wln:

Rulunhg dJbptlUwl tnpdwnydt E Yuwpwundhih ptppwhwjuwph
dwdwbwy hGwly w ww Jwulubph nGwpnt dJ.

= hnnp JhghU juwdw hu,

* hnnh wdpnip)ntlup 0...22ud 26GpwnL U’ 1,4...2,0 UNuw,

* hnnh funtwdnLpE) nLup” 12...14,5%,

* Juwpund$h h pbppwnynLp)ntlp® 130,2g/huw,

» wgnpbguwwh 2wpddwl wpwgnepynLup 0,4...1,2d/dny,

= pwunJdwl funpnLp) nLtlup” 20...22ud,

= 2UGYh wpwdwghép® 300U,

= 2UGYH pwy | p 250U,

= 2ULYUh wnndwl hws whuwywune ) nLup®3,0...3,54py ™,

= wwuuhy hwpp finttph pipdwsph wuyjy neup® 25...30°

* funthtph [ w nLpE) nLlup 400...420JUJ,

» funthtph GpywpnL ey nLlup 450U,

= 2ngynn hpwth pungpyduwt | wy UnL ey nLlp 350Ud,

» dhg2wnpw huhGnwnpnLpE) nLlup 700JU:

Mw, wpubph JuwudwsnL p) wu wuwhdwlup Ujwgbgub nL Lwwwnwyny
2utyutph quw  wputph U wuwhSwlbwynp dJwntph é&nntGph Ypuw
hwaggyt| GU nGwhUubt wuwwnwwuhslUbp: ®npdtph wpn)nLuplbph
JGpynténLpyntup gnryg £ wdb, np uwpun$hyp 87...90%-ny
pwundncd E, ww wputph JUwudwsnLrp)nrup Jwgdned E 2,5...2,8%:
Ugwydws uwnpundh| wpwunhsh wpuwnpnnwywuniepynetup hwulunod E
0,4...0,6 hw/d-h:

d.n.npsgwlh hGuwgnunLp) ntuubph wnnynotlupubpp gnLjyg GU
wJGL, np wu Jupundhpwpwunhsgh Yhpurnidp pnLjL E wuw hu
wp fuunwupwy hu dwrwbtnpp 18...20%-ny hgtgub| [79]:

duwdwbwywyhg aghwbwywulubp®™ wihuhywywlu ghunLpe)nelblbph
nnywnn, wnpn$bunputp U. L. Cnirfuunygh, U. 4. Ynrqgdhuh U
b fubh Y wy wu ghunLp)nLulbph ptylwsénL, nnywnn U. U.
Ouunnnrdnygh Unnuhg UnLj bwbu Juwunwny by Gu
ntuntdbwuhpnire)neulbp Jepblbw wgyws ptppwhwdwph nGwpni d
Ywpundhr h ww wpubph JuwudwésniL ey wu wuwhdwuh dJGpwpbpn) w:
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Lpwup Jowybp 6GU nGEwhUut dJwwbwynp rnunpnd hnnh quhg:
Lepyw wgdbp GU Yuwpundhp whwu dJGpGUw h vnpdwpynedubph
wnnjnLuplubpp: Uwnpundh| h pGppwhwdwph G fuun nghwy wu
gnpéplpwgp, wujwu weafuihyjwywu Jhgngutph Yhpwenip)niLlhg,
UGpwnnied E hGwbhj w hhdbwywu gnpénnnLrp)ntblUbpp” ww wplubph
pwunntd, npwug quntd hnnhg, ww wpubphg thptph U pnLuwywl
dbwgnpnUubnph wlge wnnt U, pwntph L wj J & fuwl h § wy wl
fung punnuwubnh hGnwgnt J, wwl wpubnh pwpéncLd
thnfuunpuwdhgngltiph ypuw:

Ywpunpwgne )b hhdbwhwpg E ww wputph JUwudwdni pj) wlu
Unpsdwwnedp, pwuh np npwuhg £ Juuws uvwmwgdnn pbGpph npuwyp:
QnjnLp)nLlU nLrlubgnn gpwywunipjwu wjw Ubph L hnpdtph
wnpnj)netuputph JtGppntdénieynilup pnLyjL E ww hu npn2bGp nL
tntnfl wy U gL fuwdnp gnpénblbpp, npnUp wannid U Yupundh h
ww wpnubph Jbwudwédnepp) wu ypw: Swuunwndt| E,np Juwudwdnt pj wl
wuwhdwlup Jwmws £ wpunbhp whwlu Jtpbluwlubph Yunnigwédphg
(51%), unpwuwy hU wnwludUwhwwnynL ) nLUUbphg (33%) L wp fuunwupwy h'u
wpwant ) nLUhg (16%) [35, 57]:

Unwe hu gnpénuh wqnbgnip)wlu dwywpnwyh bdwgbgdwlu hwdwn
Lwhwa syt U wwunpwuwndb] E ywhundh Gply2wnp upuwn$h| whwuh Unn
tnpéudnL 2, npp Juwguyws £ pwlunnn hwugntjghg, hnnh quhshg L
tnGpp  hGrnwglunn  huwpduwpwuphg: Gplzwpp  Yuwpundh| whwlp
wgpbgwunwdnpyntd E T-25A wmpwyuinph hGw: Luwlunwéd ww, wpubpp
gndnLtd GUnup wh Jwytptuhl [66, 80]:

Rnnh quwhsp punwgws E nLp Jhwudwlu | hutnUbphg, npnlg
Jhwgws GU 2wuwJwuiwy hU wpgny nwuwdnpywé nbwhUbt Jdwnbwdnp
nnwnpubp (@UY.1.7): LhubrnUtGph wunundwlt hwdwhwywlunie ) nelp
Jhwudwlu £ U Ywpnn £ tninfudb 60-90 Upy™*-h uwhdwulubpnLd: 2wmdnn
duybtpuntjph pGpnLpjwl wlyynclup Ywgunid E  20% dnbnp
htnwgunn hwpJdwpwupp pwnuwgws E jJnp dvnybphg, npnlup
mbnwyw) Jws U JGpEUw h Gpywy Upny: ®pbEpp ubGnddned GU 280U
wpwdwgdényd U 60U [ wyUnLpejwdp nGwhut ujwjwnwylubpnnd, npnlp
wtnwywy Jwés U wdtu Jdh dnyh Jpw: UGndnn ujwjwnwyubph UL
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thnybtph Jdheol Gnwé pwgwyn Juwpgwynpdno d E 0-15UJ-h
uwhdwulubpno J:

LYy.1.7.nGwh Ut Juwnbwdnp nnunpny hnnh quhg:

fuwlunhsh  wp fuwnwuph  dwdwlwy gninpui;  GU  pUpnL -
Unnmwdwuphgutph wpwdwghép: WU punuwgws E wnwudhlU nGwhUb
2Gpwbphg” 5000d  hwuuwnip)jwdp: onpdwnyncdubph  dwdwlwy
thn thn fub Gl pUpnL Yh wunund wil wpwagntrpE)nLun V] nnuw
nuwuwynpnep) ntup funthh Ljwndwdp:

Rwnpy E U6, np Jwpundhp whwl JtptlUw h YuwenrgwspniL d
wdGlUuwp win puunhputn wnw wglnnp pwunhg hwugniLjyglu E: Ujn
wwnswnny Er npw wwpwdGuptbph owwhdw wgdwup hwnywgyb| E
wnwyb] 2wn dwdwuwy W nr2wnpnirp)nLl: UGpGLUw h wnwe plpwg
2wnddwlu dwdwlwy pUph hnnwquwugwép ww, wpubph hGw Jhwuhl
wugunctd £ funthh U pdpniyh wpwupny, nph hGwbwupny wnwp wunc U
EU jlwlunLdutp, JGédwunctd GU nhJdwnpnLp) wu ntdbpp L ww, wpubph
JUwudwsdnt p) wl wuwhdwlnp:

®n ful g b wlu wuwnnwuhydubph wunund wik h wsd whuwy wunt @) wu
UGswgnLdp wpnyneup sh bl untj Uhuly 100 pnw*wpdbph ntwent U:
funtbnd ynpJws quugdwsp GUpwnyynid E pdpniyh hwnpdwdw hl
wanbtgnLp)wup, hugp hwugtguntd £ ww wputph JUwudwup: funithh
Ljwndwdp pdpnLyh pwpédpwgnedp UJwgtguned E funihbph wnglunc d
pUdpwan)jwgnLdp: ®dnpdwpyncdubp GU Jwunwndb] pdpniyh U funithh
dwytpuncjph dhgl 40, 60, 80 L 100Ud pwgwyUubph nGwpniLd: 40 L 60U U
wpdtpubph dJdwlJwlbwy JGpElLUwWu nuwpdbg E gnpélwywunptl
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wuuwp fuwunnt bwy: 100dd pwgwyh nGwpned hnnh 26Gpwh pwunnidp U
Unwbph Jwupnudp Jwunwnydt] E ng pwjwnpwn s whny: UpnjynLrupnc d,
npn2ntd £ Jw wgdt|] JdGdwglub| pdpniyp dLwdnpnn wunwdlbwdnn
ntwhut 2Gpwtph Jhglu Gnwd [wlUnLrpynilup: Onpdwnydbp E
pdpnLtyh dJdh pwluh wvwnppbGpwyUbp: Owwhdw p hwdwpybp E wl
pdpnLyp, nph nGuwhub wnwdlbwdnp 26Gpwkph dhol Gnwé
htnwynpniLp) ntlup 80x5dd E: Uju nGwpntd wywhnddne d E Ynawbiph
wnnjnrwdbwm yppned, dwupnetd L qgw h YGpwnd | wjwuncd E
ww, wpnuGph LU hnnh qudwu gnpépUpwgp: NGwhUE wp fuunwupwy hl
ongwulutph Ejpwuwhynrpynrtlup pnLy|p sh ww hu, np npuwlg
wpwupneJd ww wpubpp fupwuybu:

RGuwgw  hGwwgnunep) ntubbGpned  npn2 Yty tu pEUpnLYy-
Un2 mwdwunphg h it nwywy Juw wwpwdGwnbpp L wunind wik
hw§ whwywunt gy nLup: Uwhdwudb E 5560 pnw® wunnduwl
hwd wrmwywune ) nLtl, funtph b pdpniyph Jdhgolu hGrnwdnpnip)nLlup’
700d, pdUpnLy-ynzunwdwuphgh winwywy ntdp”™ fundbh YLGuwpnuny:
Quunctd GU, np hGnwuwpwy hu y putbu w U dGpGUwutpp, npnlg Unuwn
UpswgytlU pUpnLyh nGwhut E|GJGUWUGPHh pwlwyp, nputg phyp
Uhwugdyh vhUg b 5-h L ydEdwgyh npwughg wdtl UGYh s whbpp:

fwunhg hwlugntjgh Yunnrgdwspw) hl JGpwd? wy Jwl
wnnjnerupned hwennytbg wwwhndb| JdptlUw h w nLtU wp fuunwupn:
Rwgnnytg Lwl hwulUb| Upwlu, np ubwwpwunphl Jdwwnigyned E
wuthnnfuhnnwquwuqywé L pwlndwlu dwdwlbwy ww, wpnubph Ynpneuwp
wdpnnenL ) wdp Updwwnytg: Mw wpubnph JUwudwénep) ntlup
Uwgdnetd E 15%-hg ng wb|: Innh quhsp wp fuunwuph dwdwlwy
pwjwpwnpned E pnpnp wwhwugubphU: Innp quynL Jd £ 95-98%-ny [64, 65,
106]:

Ontph fugwunidp U wp fuwnwupw) hu Jwybplnt ) epht funtbwd
hnnh Jug G nL GpunLyep hbuwwn pwgwywy nLd E: NnunpUubph wuund wlu
owwhdw, hwdwhwwywunLp)nelup wnpG  h E pluwpbp 80-90 pnu*h
uwhdwulubpnod: Uy u wpdtputph nGwpntd wpntl 4-nn | hubnhg hGuwn
squjws Juntd E ubwwpwunphlt Jwinnegwé wdpnng quwuqgywsdh ng
wb| , pwl 5%-p: Onpdwnyncdutppgnejg GU vyt ,np upwn$h| whwl
dGpbGUwy h | hubnUtph phyp Ywnpb h E Yypdwwt| ° hwuglub nd Uhlgl
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6-h: 2whsg dJwybGplunL)ph pbpdwl wllyjnclup wtwnp E plUwnb
Yunnrgwspny pnL)wnb h wltbwdté hbwpwdnp wpdbpp, 20%p
YwnG h Ehwdwnt] | wwagnLj up:

dnpdbtph Jdwlwlwy wgnpnbqwwh 2wpddwlu  wpwgnLpe) nLlp

thnthnfwJG E 1,86 yd/d uvuwhdwllbpnid: UpwgnLp) wlt JGdwgdwl
nGwpnitd hwlgniygh upfuunwuph npwyp ¢h thnfwlb, ww wplbnh
Lpwgnitghs JUwudwsp ¢h Ujwndby, huy hnnh qudwl gnpéplprwgp’
[wjwgb| E: dnpdlLwywl JGptlUw h wpunwnpnnwywunLp) ntlup Ywnnn
EhwulUb| 09hwd-h:
EruGrnd nuwpuntd Juwuwpdws pwgdwpwlwly hnpdbphg, npnlup
hpwywuwgybp &U puwunhg huwlgnijgh wwppbp wwpuwdGwnpbph
nGwpnLd, ywntb h E hGwunLtpynetb wuby,np Gpy2wpp uwpuwndh whwl
JoptUw h Yyhpwnnip)ntup Lwwuwywhwpdwn E: YMw Jwwnqtgluh
JptUwy h Yuwenigwsépp U pnrj| Yuw funcuwht] | pwgnrghg
nhdwnpnirp)ntulutGphg, npnup wnwpwuntd GU pwundws quugdwsp
ubwwpwunphlU Jwnnegbp nt cwdwuwy [102]:

Qhwnbwywultpn U. L. &niLjuwunyp, U. 4. Ynrquhup U U. U.
Ouupnnirdndp yUpyptu wugquwd hGurwgnwbp 6GU Yuwpundh| whwy wp
JGptUw) h pwunhs opgwuh wwpwdGunpbph owwmhdw wgdwl hwngbpp:
Npn26 GU ¢hnpdlLwywl Ywpundh| whwth w U wywpwdGwptbpp, npnlup
wwywhnyned GU wGpuun nghwywu gnpéplupwgh npwyh | wjwgneLjl
gnrgwuh2Uubp: Jwuunwunwjws E,np upundh h ptppwhwjwph npwynp,
ww, wpnuGph yYnpuwh swhp, JGluwwupyuwywywlu JUwudwséne p) wu
wuwhdwlup U wi bl Ywjws U hhdUwywuntd Ywnpundh| whwd wp
JoptUw h yunntgywspw hU wnwudlUwhwwnynep) ntbbbtphg: Uwyw; U
wuhpwdG2wn £ huwpdh wnlUb] Lwlu bwnwyp hdw wywu ww Jwulbbpp bW
ntL htdp [57]:

bpynruvuyh wvwpwsup pnpwluntd wwwpwuwdbp E ¢gnpdlLwywl
Uwhundh Ywpuwn$h| whwuh puwlunhg, npp 2wndnidp uwnwuntd E
mpwyunph hgnpni ey wu wup wndwl | hutnhg (LY. 1.8):
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Ly.1.8.2wlunhs h ufudw.

1-funth, 2-nGwh UG uywjwnwy, 3-f hubn:

Lwunhg hwlugnLjgp hptuhg UGpyw wgunLd E nLnnwhw wg
Unnwy hu wwwntnpnyd, ntnhn U hwppe Jwytpunej e ntubgnn funth: Uy L
Jhwdwdwlbwy thnpned E Ywpundh h Gpyne 2wnp , ntuh Yunpnn uw n

uy. 1.9):

PI/ P

LY.1.9.tunthh mGupp ytpuhg:

funthh Ywpnn vwy ph dup pnLy| E ww hu, np P Jupnn nLdh P,
pwnuwnnhgp wnwyb| wgnt j U swhny wanh putnynn quugywsh dpw: P,
punwnnhsp nLnnyws E nGuwh fun thh UGuwpnlu,  hlugp
hUwpwynpnLrp)ntUkE vw hu,np hnnh Yyupdwsd 26pwntpp W ww, wpubpp
hwJwuwnpws wh wugublu nGwh quwhg: tnthh hwnwyhl wpydws GU
Uupdwsplubp, npnup Lwwuuncd GU hnnh [ pwgnLghsg Jdwndwup U
thg pdwlp [48, 107]:

funthh JGpunctd wbnuwyw Jwsé E ynunwdwluphg pUpnLyp, npp
hptuhg uGpyw wguntd E [hutn® hp Yypw wdpwgdws nGwhlub
wp fuunwupwy hu ujwjwnwyubpny (hwuuwnep) ntup 40dd, wpwdwaghép
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600U J): UjwJwnwyUutpp thhuptGguncd GU hnnp, Jwupncd Ynpwbpp L
Lwwuwne d GU pwunwsd quugdwsh guwhs hu duwwmnogdwlup: BUpnLyh
wgnbgnLpyntup YJuwwwpyned E hnnh ¢inpJduwl wwhhlU, Gpp
upwndhp b ww, wplUbpp hnnh 26pund [ w]  wup nuutdws Gl
JUwudbnLg:

dnpadtph dwdwuwy npn2dbp GU uwjwnwylutph Jdhelu Gnwéd
hGnwynpnLp) wlu (F) U funthh hwwnwyh nt ujwjwnwyutph Jhelb Gnwé
pwgwyh () owwhdw, wwpwdbwntpp: ®npatpp hpwjwlwgybp Gl
hGuwlj wi JdGpnnhyw ny” npwyuwnnph hGwn wqgp b guwunwd npyws
Jwpuwnd$h| whwup ptpytp E wp fuwnwupw hu yh&dwyh, 10d wugniLdhg
hGwn EutpgGwhy Jhgengp wugubgdby E: tuniph wngunt d hwjwpy wé,
quhs hl sdwwnirgws hnnp wwy wputph htwn JhwuhU hwjwpdb| E
dtnpny U | gybl wnpynbph dbg: dbGpgdt| £ Lwl funtph Ynnpbnpphl
gnywsé W dhg2wnpw hu nwpwénL ey nLtUUbpnid Gnwé hnnwquugywép:
Ujuncthbuwb hup Jquwpydt] E funthh wnpuntd hwjwpywsd wdpnng hnnh
swdw h L quwhghlt wugws hnnh nt ww wpubph dwdw . h Lnynuwy hu
hwpwptGnpnLp)ntup (g,%): tunbhh wngluh Jdwuntd hwjwpyws hnnh
Sudw, p hupgduwnydb £ GLutpny funithh pungpydut | wy UnLjnLlhg
LU pupwgph funpnLpe)nLUhg: YUnpnLruwlbpp (%) npnaybtp E puwn
wdpnne LU gqujwé quugwsubph dJdGe ww wputph quwugdwdwy hlu
hwpwptnpnLp) wu™ 10d mwpwsph hup yny (LY. 1.10):
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LY.1.10. g (R) bz (h) JuiwJwdnL ) nLUlbGph gpwdhyutipp.
1,2-up fuunwlupwy hU wpwgne ) ntulUbpp, hwdwwwunwu fuulwpwn® 2,50 5,6
yd/d:

RGuwgnwnL ey nLulbiph wnpnj)netuputpp Uubpyw wgdws LU
gnwdhynpbl: Npn2ytp GU whpwun nghwywu gnpéplpwgh owwhUuwl
gnLgwuh2utpp. H=80-90UJ, hA=70UdJ, up fuunwlbpw) hU wpwgnLpE)nLlup®
2,54d/d, g #100%, p =1%, wgpbtgwwh wpwwnpnnwywunL ) nLlup” 0,35 hw/d:
U u wwpwdGuntnny wp fuunnwupwy hu opgwuh Yhpwenop) ntup pne |
E wvw hu wp fuuntgub| Ywpun$h whwl Jopblwlu wnwlug gbppbnuduwl,
wnwlug funthh wngluntd pUpwjwqdwynpdwl, hnnh wpn)ynLrlbwdbwn
thhupgdwdp, Un2wbph dwupdwdp, wnwlg ww| wplubnph
JUwujwénL @) wlu nt Ynpuwh [103]:

T Lnpgwlp Upyht winpunuwnébp £ Yyuwpundh h pppwhwuweh
pwnn U wp fuuwnwunwn | huGp nt punphu U wpun$h| whwu JdGpGlLw h
Un2 mwp wnnhs hwpdwnpwuph Juwwwntb| wgnpéddwl wuhpwdb2 unL p) wup:
Swén funlbwdnt p) wu nwpntd Ywjw hu U Sdwlup Jwjwjwqws hl
hnnGpntd gnjwuntd GU hnnuwyn2wtp, npnug JGé dwuh swhbpp
gnbpt hwjwuwn GU ww wputph swhbphlu: LUwWl Yn2wbpp dwnbtph U
EL bwuwonpUubph Jpw s 6U wupwindne d ww, wpnubphg, npu £ wgnneJd E
pGppwhw]wph npuwyh Ypuw:
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bupwndhLh  pGppwhuwdwph  npwyh  pwpdpwgdwl  hwdwn
wuhpwdbGwn £t ww wpwdwnagh hnnwy ht Ynpwbpp gwnpnbp L
JwupwgUb| w bpwlu, np npwup wdbG h dwup [ pUuGU, pwlt wdGUwhnpn
ww, wpubpp: Pwgh w n, JGfuuuhywywlt Juwudwsp unwgwsd ww, wpubph
pwbwynLp)nLlp s Wt wnp E gtpwquwlgh wag nnuwb fubh Y wy wu
wwhwlue Ubpny uwhdwuyws Uunpdp: Uy u fuunph nténedp pwjwyuwuhl
pwnn E, puwuh np  ww wplUbtph $hqhyn-dbfuwbhjuwywl 2 uwn
hwinynLpyneulutp hwdpuyuncd GU Yyn2wtph hwnyne ey ntulbbtph hGuw:
Rwinjuwwtu nddwn E ww wpubph qunedp gwsp funbwdnL ) wdp dwlnp
hnnbpnL J [25, 88]:

Cunm % N Lnpsgwuh wthung nghwywu gnpépUupwgh uygpnid
Uwpundh h ww wpwdwnagh hnnwy hu yGnuh swpnnedp hwdwnynio Jd E
2w hGnwuwpwy hu: % M Lnpsgwuh yYnndhg YJuwnpuwn$h| whwl
JoptUwubph hwdwp Jwydbp E uwuwptp wgnpéywéd JuwnnLrgdwsph
htuynn-yn2 mwp wpnnhs hwpndwpwup (UY.1.11):

LY.12.11. Ef wuwhly dnntpny hGudnn-yn2 nnwp wpnhg
wp fuwnwupwy hbu onpguwl.
1-yn2nmwe wnnhs g wujwy, 2-Ef wuwhy dnnbp, 3-ujwd wnwy, 4-
unUh,5-hnnw hu ynp w:

Ugnpbgqwwh 2wnpddwlt dwdwbwy Yn2unwe wnnhs qgpwudwyutnp (1)
wwwhndned GU pwundwlu wuhpwdb2wn funpnrpeynitlup L gwnnnud GU
dwpgh hnnw hu  Yn2wtpp (5): Spwudwyh Ynnuwy ht dJuwubpp
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hwdw, pyws GU ujwjwnwyutpny @B): Upwup wp fuwnwuph pupwgpni U
Uupned GU Jdwngh yUnnwy ht hwndwsutpp® UdwgbgUb nd hnnh
wdb npn pwlwynt @) wu dwunnLgnedp gunn wp fuwnwupwy h
opnqwulutphU: UyunthGwlh funthtpp pwunnid GU wpund$hp h Jdwnagh
JUwgwé dJwup, nph wnnjnerupnid UJwgned E wpfuunwupwy hl
opngwulbtph SdwlupwpbnUdwénLpe)nilup: Ujwjwnwylubph @) dhol
wbnwywy Jws U ELwuwhy dnnbtnp (2), npnughg jnLpwpwls jnLph
GpywnpnLrpyntup wybi h Jté E, pwu ujwjwrnwylbtpnh Jhelb Gnwé
hGnwdnpniLpe)nLrup: U2 fwunwuph pUpwgpnid Ef wuwhy dnntpny
uwdwnwylubnp wwind GUwhwunt U Gl pUph Jdwybpbup L
hnnwww, wpnwy hu 26pwh hGwn hnfuwgnbgnL p) wu hGwbwupny gwnnne U
GUdJdwytGpbGuw hUhnnwy hu yn2wbpp [73]:

T M ULnpguwuh  Ynndhg dJuwydws wu Ynzuwwpwnnhgh
wnwybGnLrpynitlup w wuntd E Upwlunid, np UJwgned E Yynawbpny
wjGL npn hnnh Jwuwnignedp nGwh qunn wp fuunwbpw) hU opquwuubnp,
hGwbwwtu Lwlu npwug pGrnUwdnLpyniup: Ugwyyt E wu pwlnn
opngwuh urnLrgywspp, npn2yt GU wwpwdGunbpp, wwwmpuwuwnybi|p E
thnp é bwy wl onhlbwy ] Jwuwnwny b Gl g h wnwthnné L wy wu
hGuwgnuniL ) netulbtpn, npn2dbGp E Juwpun$h| whwuh pwnp2w hl
nhdwnpnLp)neup: o®npdtph wpnyniupbtph dJbppneéniLp)nilp
gnLjg £ wdb, np vnpdlLwywu hGudnn-Ynauwwe wnnhsh Yhpwndwl
nGtwpnLtd pwn2w hu nhdwnpniLp)yntlup, ubphwywlt Ywnunbh| whwlh
htwm hwdtJwuwnws, 10-17%-nd ¢gnpp E: Uw pwgwwpyned E Upwlny, np
Unnwy hu ujwjwnwyutpp Yupned GU Ywpundh h dwpgh ybenbw hu
wdpnng 2Gpuwp, nph wpnyneupned EpLbwwnph Jpw pwpédpwlwy hu
thnppwuncd E Ywunpynn hnnuwww, wpwy hu quugwdh nhdwnpniL ) nLlp,
UJwgned E JGptlUw h hhduwywu Ef bwwnph ypw Jwunnegynn hnnh
pwlwynLp)nLlup, heunLd E dunt| hph 6wwp U JdGéwunrLd E
wagnpbquwuwh wpuwnpnnuwywuncL @) nLlup [74, 75]:

Ldwlu yn2vnwpg wpnhsgnd hwdw, pqwsé Jwpundh| whwup wwywhnynio J
Ehnnwquwugywdh 80% qunt J:

Uju U Uwunpn w fuuwnwupp ntn guuydnitd GU hbGwwgnundwl
thnep nL J:
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1.3. YUrsSN$hLURUL UtetLuuLEMrkr FULNT OrquLLErh
MUCUUESrerr OMShUuul USUUL RUSHUMrYk JUUULUYUYRS
Stunre3NFrLLENrc 64 IUUBUUSUYUL dErLnk'enr @3Nk LC

Ywwws hnnh 2Gpwh ypw ubpgnpénipe) wl plunijehg pwlunhg
wp fuwnwupwy hu opqwuutpp (huntd 6GU wwuuhy, wywhy L
Undphbwgdws, huly puwn Gpypws whwywlu adUuh® hwpp, ubGlghnlu L
tnup tnwéd b (LY .1.12) [82, 84, 85]:

—s UL e
oo @l He
boood 4 % ee

o _J
UU Y=

LY.1.12. 2wlnhs wp fuuwnwupwy hu opqwuutnph hhdbwywu mGuwyubpp.
l—wwuuhy, I-yndphbwgyws, Il -wywhy:

LwU hpwrnrpeyntlt GU guwbl Yyndphlwgyws uwp fuunwbpw) hl
opqwulutpp, npnup Jugddwsé GU wwuuhy hwpp utlYghnlu funthtphg L
wywhy wwwnwudnn yYnnpwdwubphg: Unnpwdwubpp wlpwgyws Gl
Ef bwwnnph 2ngwlwyhl Jwfungubnny L 2wnpdwpbtpyned Gu
wnunwyGluwpnl L hubnny: Npwtu wyuwhy fun th, undnpuwpuwn,
ogunwgnnpénLd GU &ndynn pupdwnh wng uh Ggpup Gpuwp: Gn&ddnn funihh
punpn? wnwudUwhwwnynL E) nLlup hwdwnpync J E uwj nh
hupbwdwppnidp U hnnh guwuywgws dhdwyncd fnthh Yypwy ny 26pwh
wywhy wtnup wpdp: Ujynwhuh fininy pulndnid b gnfunpyncd E
hnnwww, wpnwy hu 2Gpwp:  Uwuncgynn  hnnh  pwlwynipe)nilp
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thhppwglub nt  hwdwn pUuwupdned E  gnquwynp funth, npwbuqgh
h wd wwwuinwu fuubh ww] wpwgwugywsh ubppuh wypndh hu: &néynn funthh
pGpnLpynLup uw ph 2wnpnddwu hGwwagdh unnguwplunt ) U E, hlUgp
wuhpwdbG2unLp)nLl £ wnwpwgunc J JGdwglb| nL pupwgph
funpnLp)ynLup wuwuuhdh hwdGdwwnt p) wdp [31, 60]:

LGpywy ntdu dwyyws GU wywhd funthtph Uwhlwwgdsbpn  Lwl
Erbwwnnpuwy hU thnfuwyphgUtph  hwdwn: Uy nwhuh  wp funwbpw) hl
ongwuh ophtwy Ywnnn E hwunhuwlbw bhwjwhnened wp fuunnn
dnddnn  Yynnpwdwubtpny fndp, nph nGwenctd hUwpwdnp E
hwJwuwnpwy2nt| hutpghnunLdbpp:

Rhdlbwyuwl wwhwugUbpp, npnug wowp £ pwjwpwntU Ywpundhy h
pGppwhwjwph JGpGUwUGph puwlnhs uwpfuunwtpw) ht opquulbnp,
hwdwnpyncd GU hnnh 2Gpwh Ywpnodp, thluptignedp U Jwwnniogne dp
quhgs hwpdwpwuplbtnphU: Ywpdnn hnnup Gpwh dup Ywwws £ Upwunc J
ww, wpnubph nwuwynpnLrpynituhg U pupfwwdnLp)nLlUhg: Rwunhg
wp fuunwupwy hu opgwulutpp wtwp £ wwwhnd&bGU wvwpptp gwhtph W
wnwUdlUwhwwyne )y neUulUbph ww wpubph pwunned: NLuntdJbwuhpbup
wywhy, wuwuuhy b hwdwygywsd puwlnhg wp fuunwlupw) hU opgwulubph
wnwyb| nLp)ynetubbGplUne pGpnLupeynelultnp:

Poppwhwjwph dJGpGtUwubph wwuuhy fnitph Yuwrnigdwsph
hhdpnLid pujwsé E ubwp, nph wp fuwnwupw) hu gnpéplpwgp w wunt U
EhGwlj w ned: Cwpddwl dwdwuwy funthh uwy pGpp fuwfuwnne d GU §wwp
hnnwj hu JwulbhyUubph dheol L yuwnd ws hnnwquwuqgywsp
mbnuwp wpdned ytpl nbwh uGwh wp fuunwbpw) hu Jwybplnt j p: unih
up fnwbph - npwyp  Yuwwws E hnnh  Jh&wyhg, wGnuwyw Juwl
wulyjnrUuhg b wp fuwnnwupwy hu Jwybplbune ) ph GpYwnnLp) nLUhg [36, 44,
53]

funthh wp fuunwupw) hu Jwybplune ypnd hnnup Gpwh uwhpp wnwlg
ptnbwdnpdwl, w uhUpl wnwlug yUnruwvwywwnhqgdw h dLwnpduwl
hUwpwynp E,Gpp funthh Gnwyw) Jwlu wulyj nLtup® a <90 —¢, npwtn ¢-u
hnnh L fun thh JG wwnh dhol 2 hd wiu wulyjnLul E:
UpJwunwww] wpwwwne nubph pGppwhwjwph JdGptlUwlbpnh wp fuunwuph
thhpédp gnrjyg E  wvw hu, np  wfuwnwupw ht dJdwybpuncj ph
GpwnnLp)nLlUhg Y whrw] wé fun thh b nwywy Jwl wuyjyncunp

33



Lwwinwywhwndwn £ puwnpt] 25-32°h uwhduwllbpnid: Gpp pwlnni dp
Jwwwndne d E funthh wEnwywy Jwl thnpp wuy) ntubph (@ <259 ntwenc d,
gnpépupwgl nunblygyntd £ Ynruvwywwphquwy h dbwdnpdwdp, hlug U
Er hGuwgwy ntd pwupnwguned E hnnhg ww wpubph quinc Jdnp:

fun thh wp fuwnwupwy hu dwybplunc ) ph [ GpywnnL ) wl
wgnbgnLpynLeup pwundwu npwyh Jpwwpuwnwhwy indned E Upwlno d, nn
LEpyunnipe)wu dGdwgduwup gnigpupwg funthh ypwy ny hnnuptpwh
mGnuwp wpndh wpwagne ) nLtup bJwgnied E: Npn2wyh I-h nGwpnL d wmtnh
EncubGUuncd hnnh ynruvwyne d funthh wng bUh dwunc J:

funthh wp fmunnwbpwy hu dwytpunc )y ph Gpywpnipeyniup wbwp E
L huh [44].

I <ctgla+ @) [:—g — (zgi) Osiny (cosytyg (a + @) — sim,ﬁj], (1.1)

npwtn® U funthh bnwyw) Jwu wulyj nLul E, U JdGuwwnh hGwn
hnnh 2¢ydwl gnpédwyhgp, V-U' JGpGtUwh hwlplUpwg 2wnddwl
wpwgniLpe)netup, U hnnh dwJwuwywynp nhdwnpnLrpeynLrul E
ubnddwup, UMNw, p-U° hnnh 6wjw w hU fwnLpynLlp, Yyg/dd

Y =arctg=——% K-U’ gnpéwyhg t, npp npnzaynitd £ puwn fndh Ypuwy h

Fina

hnnupGpwh A hwuwniep) wlu U pwundwl A pwnpédpnLpe) wlu: Cun L. U.

Uwpstuynjyh, dwup ywjwdwqw) hu hnnGpnid wp fuwnG | nL dwd wl wy
a, =15%a, =20 U a; = 25°wlly) nLultph h wJ wn K-U nLuh
hwJwwwinwunwlwpwn hGwby w wpdtpubinp K, = 1,39 ,K, = 1,56 L K; = 1,88:

dnpdtph wpnynLiuplubpp gniLjg GU ww hu, np Yv<a+te
wndbplubinh nGwpnc d JGswlunL J E ptnUjwénLp) nLlun:
Uwulbwynpwwtu, K=1 wndtph nbwpnid v=a/2 Quuwwygyuws,
Shdwyw, wé hnnkp)[89, 90]:

Epp P =a+ g, L wnuwgnt @) wu J & & wg Jwl hGwn
ptnUjwénip)nitup Udwgned E, hUgp 2wn Juwplunp ww Jwu E
wn Jwunwww| wpwwwne nutph ptppwhwdwph dwdwlwy:

PEpJws wy)w Upp Yuwnbrh E oquuwgnpébtl ptppwhwjuwph
JoptUwubph wwuuhy funipbph  wp fjuwnwupw hu Jwybpluni )y pUbph
Epywnpnip)wu hup Jupnyh dwdwbwy: Iwny £ U6, np nppwl thnpp E
fnthh hug Jupuwy hpu Gplwnni ey nebp, w bpwl thnpp £ Lwu Yuwnynn
2tpwh hwnJwsph Jwybnpbup: U uwtu, h=15+18 ud-h hwdwn, a =25°
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nGtwpnLd funthh GpYwnpnep)nitup wawp £  huh 290 UU-hg ng wb L
h=5+8uld-h hwdwp, =15 nbwpnctd ns wdb|, pwl 130 JU-p: Mwuuhy
fnthipp , s bw wé hptug wwng Yunnigwsphl, s 6L Gpup fiudnpync d
Uhpwnb| w U JJGpGlUwubpnid, npnug nGwpnLtJd wwhwug ynLt d £ npn
hwuunitpp)wdp hnnwy hu26pwh bnpnod: Uwyuwy U, wy u funthtpp, npwbu
wp fuwnwpwy hu opgqwulutp,wnpn)ynrbwtwnbtl, pwuh np hhwuw, h duny
fuufunnt d GU wwp hnnh W ww wputph dho b

unh Y un Jwi nhdwnpnLp)nLup npn2 G nL h wd wn
ntLuntdbwuhptlUp funthh ypwwagnnn nedbpp: Yupdwlu gnpéplupwgne U
hnnupGpup nt$npdwgyntd E L GUpwnyyntd npn2wyh noLdbph
wgnbgnLpywup @GYUwn 1.13): R;-nd  UwlwytlUp hnnh Ubpphl
nhdwnpniLp)wu nLdp, npp fuwwuguwpnid E Juwwwygdws hnnuwy hl
JdwulbhyUubph wug wndwlnp, R,-ny’ hnnh nt$npdwghwy h
nhdwnpniLp)nilp, Ry-ny hnnh nhdwnpnip)uwlu nidp hubpghuw h
hwnpwhwpdwlu ypw, B;-ny” hnnup pwh uunwwnhy du2nedhg wnwe wg wé
nhdwnnpnLp) nLlup:

7N\

Plemy |
¥

LY. 1.13. Innup Gpwh updwlu dwdwuwy funthh yJpwwgnnn nLdbnh
u fub Jw:

R, ntdp Juwmjws E Jdwyynn hnnh fwnniep)nitbhg U Upwunc d
hwupw) hu vwnpptph pwluwynLp)ntlUhg, hugwtu Lwlh funthh uwy ph
hwuwnt ) nLUhg: ALuntJbwuhpnepe)ntlblUbph wnnjnrupnod
hwuwmwwnd b E,np dwup hnntph Jwydwl dwdwuwy By, nLdp Jwgdne J E
wdpnne pwnp2h nLdh 8-10%-p, huy ptprlw, thtunntl hnntph nbwpncd
w) Upwlu thnpp E,np Jwpt h E wuwbub : By nhdwnpnLp)ncup Ywhm]ws
sE updnn hnnuptpwh [ wUunctp)ynitlbhg: Wn wwndweny, thnpduwl
funpnLpe) wt bnppwgdwl hGwn punhwunLtp pwp2w hu nhdwnpnt ) wu
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JdbGg wu nhdwnpnt @) wu JuwulbwpwdhlUp dJGéwunLtd E:R,
nhdwnpnLp)ynctup ninhn hwdtdwwnwywu E uw ph GplwnnL ) wun,
wuhUpUl funthh | wy Unt ) wln.

R, = kb,

nputn” k-p gnpdwlhg £, npp yuwhwws £ hnnh wiuwyhg, yhdwyhg
Luw) ph hwuwnLrpeynLtluhg,b-Ufunthh | wyunLp)nLlUl E:

Uwdw) hU U yuwjwdJwguwy hu hnntph hwdwn Ywnt h E punnLub|
k;=364UM,huj wJwgwy hu hnnGph hwdwp ™k, =18+ 24 UL/:

RQwuumwnywsd E, np pwn2w hu nhdwnpnirpe)nitup wb wuncd E
Yuwpynn hnnuwptpwh hwnwsph L funthh pRGpnLpE) wu  wllyj wl
dGéwgdwlu hGuw:  Uwyw U wlw hwhy JuwrwwsnLp) nLlp wj u
wwpwdGuwuntph W R, ntdh Jhgl wwupgqwés U hwuwmwnyws sE: R, nLdl
punnrudnctd E hwlGtdwunwywl Yupynn hnnuptGpwh hwndwsph
duwytptuphl.

R, = k,F = k,bh,

npwtn’ k;-p gnpéwyhg E, npp Yuwwws E hnnh $hqhluwyul
hwwnynLpeyncubtphg,Fp” hnnupGpwh hwndwsph Jwytnbup:

dnpatpnyd hwuwrwndwsd £, np ywjw hu b ywdwjwqw) hu hnnbph
hwdwn &k, = 025UNw, huy wjwqwy hu hnntph hwdwp™ &k, = 0,12+ 0,17 UNw:

R; nhdwnpnLp)ntup hptuhg UGpyw wguntd E nLd, npp
wuhpwdbG2wn E pwlunynn hnnupbpwh hUuGpghw h  hwnpwhwndJdwu
hwdwn: Upw hnphgnUwjwlt pwnwnphsgp npn2ydntd E hGuwujy w
pwbwauny.

R, = 2V pFsinmy :

R, nhdwnpnLpynclup, npp ww Jdwbwnpdws E pwunynn

hnnupGpwh dunLcdnd,npn2ynLtd £E hGwl) w wpwwhwy une ) ntuny.
R, = Gtg (a+ @) = bhlpgtg(a + @),

npwtn  G-U funthh Jpwagumudnn hnnup tpwh dwupnL ) wu nLdl E:

Ujuwhuny, pwp2w hu nLodp, npp wuhpwdb2wn £ hwnpwhwnb|
hnnh ubwnyd dogwynt ey wb dwdwuwy, ynpn2dh hGwnby w pwuwd uny.

P =k,b+ k,bh+ 2V?pFsiny + bhlpgtg(a + @): (1.2)

ALuntdbwuhpGUp wywhy pwunhs wp fuuwnwlupwy hu ongwulubtnh

wp fuunw pp:
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Up Jwwnwww| wpwwwne nubGph pGppwhwdwph JGpGlUwubph
YunnLrgdwspni d hwunhwnn wyuwhy pwunhsg wp fuunwupwy hu
ongwulutph pdht GU wwwnywuntd wunynn hwnpp ujwjwrnwyubpp U
tnwnwuydnn funthbpp: Swnwuynn funthtpp (w U YhpwnenepyneU nLubl
Ywpuwnd$h h, unfuh, Swyluntnh ptppwhwjwph doptluwubpnh (KKY-2, JKI-
1,4, KKI-1,4) yunnLgjwspnL J:

Uju wp fuunnwupwy ht opgwultph wnnigwspnid wnjw npn?
hwd wrwyh Yynupdnn W Juwuynn dGunwnuwywlt wnwdgwywl wwnpbp
thnfuwuphtdb; Gu nGwhut wwpptpwyltpny: Uw ULwwuuncd E
Jopbluwubph Gplywpwybgnipywu W hnruw hnipejwlt JGdwgdwlun:
Upnjnrupned, wwunwudnn funthtpp hwdwpynid GU  wwpqg U
wpn) ntbwJbwpuwlnhg wp fuunwlupw hu opguwuubp:

Jdtnghl nwphutnphl dnédynn funthtnp Uhpwnnid Gu
Ef bwunnpwy hu wnh wh dpGlwltnh JunnrgdwspnL J: Rnnh
dowynLpe)wu JdbGg wwnwuynn, ppprwgnn gnpédhpubph ubtpnpnodp
wyt wuncd E: Ypwlp gnpdLwywunt d nwenunct d GU wdb h Yphpwnb h,
pwuh np upwlug oguwgnpénLdp ptpnud E nhdwnpnipe)wl nudbph
UJwquUuwu:

U U ncppnduynyh  wp fjuunwuplubpp peniryp GU ww hu
hwuwwwnt|, np Uww qgnjnLp)nLl nLUuh tnwinwil J wi w, hph
GpwnniLp)wu nt pwn2w hu nhdwnpnLrpE) wu Jvhpgt LU uwng dhw U
hwpwnpwywlu wvwnwudwl, w) | b wwuuhd wp fuunwbpw hu onpguwuny
hnnh thuntGgdwlt nbGwpnid: IGuwgnunLe)neulutph wpnynoupnod
ghwbwywup hwugt| E hGwlj w hu.

1. 3nnh  Yuwupdnn dJwulhyUubph Gplwpnip)nelp nLnhn
hwdtJwunwywlt uwwh JdGg E guudnid wnwgplUpwg 2 wnddwl
wnpwgnt ) wu b tnwunwbdwl wdw, huvne nwy h hGw:

2. Gpunc ) pUtnp, npnup h hw wn GU gqw hu hnnntd wwuuhy U
tnwnwuydnn wp fuunwupwy hu opgwulutnny gpnruwh tiuntgdwl
dwdwuwy, EwywunptU hpwpnhg s 6U LwWppGpyYnL U:

3. Swnwuynn wp fuunwupwy hlu onpquwuh pwn2wj hu
nhdwnpnLp) nLun gninfune d E wwnpGpwywlunt @) wu
uygpnrupny: Bwn2w ht nhdwnpnirp) wlu thnihnfudwl thne | p
hwdpuyunctd E  wpfuunwupw hU  opgwuh  hwplwnpwywl
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tnwnwbdwl thneph hGwnm b tnppuwtncd E wdwy hunenwy h L
twnwt Jwl h wd wruwuywunt @) wu JGédwgdwlup gnLguwhtin:
uddgindhG nd hnnwd?2 wynn nwunwuynn wp fuunnwupwy hb opngwuubtnph
ntuntdbwuhpniopeynitubtph wpn)ynoupubpp” W U, dneppnduynl
hwuqgqbg hGwbj) w GgpwywgnLp) ntulbtphl.

1. 3nnh dhunpbtgnidp hUuswtu wvwnwuynn, wy bwtu Ef wwuuhy
up fuunwipwy h opquuutpny gnpépupwg E° ghYyr, npp
punuwgws £ GpynL bnieptphg” gnpdhph wanbgnt ey wu wnwy
hnnntd UbGpphU [(wpnodutph wnuwwgnetd W hnnw hl
dwulUhyUuGph 2wnpuwn J:

2. Bppndwu E$PGHULD | wjwgnej Ul E, Gt @ wulyynclw hlU

wpwagnLr)nLtup Jd6é E, V 2wpddwlu wpwagnep)niup® dinpp,
gnpéhph hxbgwhp UGS [44]:

Uwnwynnp JdGptluwubph nbwpentd funthp (LY.1.14) wvwnwuyni d E
qunuwynh wntnny, npp hujwuwn £ fuwhungh L Gplwpni ey wup: Jup yh
wnUG nd, np vwunwudwlu R 2wnw]hnp qaw hnptlU thnpp E Juwfungh
GpywnniLpe)ynelUhg, huy R/LhwpwptpnLp)netup Unnk O-hu, ywnpb h E
funthh hGuwnuwpéd-hwdplUpwg 2wndnidp hwdwpt|p nunnwagdw hu, npp
hnphgnwywlu hwnppnipr) wu LWwndwdp  nenndwéd £ (a+ B)wlly) wu
iy

U2 fuunwlupwy hu gnpéplbpwgni d funthh pwgwnédwy wpwgnL @) nLlup
duwgnpyned £ dGptUw h ¥V U funthh vnwnwunnwyuwl 2 wpnddwl wR
wpwagnLpr)nLtultph huwpdhUu: IGwnwgdsh adaup L swhtpp Jwjws G
wdw hunLtnw hg, tnwinwil U wit nLnnnLpj)nLlUhg L
hwd whuwywuncL ey ntuhg, husgwbu Lbwluw funiph wnwe plpwg 2 wnddwl
wpwagnLp)nLlUhg:

38



LY.1.14. 6n6ynn funthh ufuGdw.
1-funth, 2, 3-dwntin:

Swunwuynn fundny hnnw hu 2Gpwh pwundwu gnpéplUpwgn
Junt h B pwduwlb| GpUnt wwnpGpwpwn Ypyludnn tnepGph” Yunne d,
Gpp wvwuwlunnwywl 2wnddwl dwdwlwy funthh  wGnuwp wpdJwu
nLnnnLrpeyntup hwdpuyuntd E wnweplUpwg 2wnddwl nLnnnt ) wl
hGwmlbw2wnpuned, Gpp UJws Gpyne nunnnLreynLtultpp JGYp Uy nLupl
hwywnwy GU [30, 62, 91, 94]:

Ywwinwnyty E 26Gpwh pwundwu gnpéplUupwgh JtppnidénLp)niLl
enéynn,pprruwgnn funthny:

Lawuwydty E fnbhh vwnwudwlt wdw hunetnwu 4, hnphgnluh
bjwndwdp d6nddwl nLnnnLpEjwu wluyjynclp® ¥ fnthh pGpnLE) wu
wuyyneup® e U wwunwudwl wuly)yntbw hU wpwgnLpynLup® @: Iwp yh
wnutindy wlU, np YJuwmungh Gpywpnipjwlt hwdtdwnne ) wdp
2ninundhyh 2uwnw]hnp 2wwn thnpp £, unt h E punncoUby, np funtph
uw) ptpp Jwuwnned GU ninnwgahé hGunwnwpéd-hwdplUpwg 2wndni J:
Cunnitudby E Uwlu, np funthh wp fuunwbpw hU wwpwdbGwpbpp U
ntdhdubpp dGpgqwé GU wy bwbu, np 26pwh Yupnedp Juwuwndne d E
w U wwhhl, Gpp bwunpn Yupdws 26pup 2wpundJws £ U guuyne d E
pRhs ph Ubig:

U2 fuunwu ph gnpéplUpwgncL J tnwwnwil y nn fun thh P wgwnaéuwy
wpwgnt @) nLup’ v, utnwgyntd £ hwdplpwg 2wndduwl” Vi, U funthh
nunwunnuwywl — 2wpddwt” v, wpwagnLpr)nLultph gnutdwphg:
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Upnjnirupnied funthh uw ptpp wpuwgdned GU winwdlbwdlu hGunwghé
uy.1.15):

WA=710Mny_
A=0075's ]

WA=1,180ny |
A=00256/ |

LY.1.15.8n64ynn funthh 2wnddwl hGwmwghdép:

RGunwgsh wnwdubph pwpédpnLp) nLup®
hy = 2Asiny . (1.3)
Swunwudwlu J&Yy wdw hvnenned  fungh  wlugwd Swlwwwnhh
GpywnpnLp)nLlp.
L=2nV/w, (1.4)
npwbtn V-UdGptUw h hwdplbpwg 2wnpnddwl wpwgne ) nLul E:
Swunwuynn funthny 26pwh pwundwu gnpéplbpwgp YwgddJws E Gpynt
wwnpbpwywu Yynpyudnn thne Gphg” ywpdwl thne |, Gpp wnwunwlnnwy wu
2wupddwl  dwdwlwy funthh Ggpupbtpwh 2wnddwl ninnnip)nLlp
hwdpuyunctd E funbhh wbnwhnfwwl nennnipjwu hGwn, W 26puwh
2unpudwu thne |, Gpp wu 2wpdnedutph nunnnep) ntulbpp hwywnwy
GU: tunthh wpwgnLrp)nLtUUGplU wu vnrGpned gnryjg GU unpduws
Uy.1.15, wni d” vy, U V.
funthh wp fuunnwuph dwdwltwy pwundwlu nhdwnnpnip)ynitlup W hnnh
ntdénpdwghw h puncypp npn2yntd  GU  Yupdwlu hhJdUwywl
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wulyjnruny: 6pbt wuwuhy funthh hwdwp wyn wuy) nLup, npwbu Ywunl,
hwdwpdyntd E hnphgnuh Ujwwndwdp pGepnLpe)wl wlulyjnilp, www
dnddnnh hwdwn updwlt hpwywlu wuyjnerlup Ywws £ ng dhw U
pGpnLpejwlut  wulyjnrlphg, wi Ul wvwnwudwt wwpwdbwptphg UL
npnayncJ k.

Eyyp = &g — & (1.5)

npwbtn’ a;-n funthh pGpnLpE) wlu wuly)nell E, =p° funthh 2 wpndduwl
nLnnipejwlu bhnphgnwywuh Jhelb uwgddws wulyj nLunp:

e-p hninfuyuwl £, npp JuiwJws gnpéplpuwgh wwhhg, npnayncd E
fun thh G n wihn fuwy wi b h wnwp & npwywl wnpwagntLp)nLulutnh
hwpwptpnLp) wdp: Yupdwl dnepned wn wuyynelup pwjwywuhl
d2unLp)wdp wnGLh Enpn2G hGwnl) w pwlwduny.

h X
EQE _ Ta _ ZwAsiny (1.6)

TVhyf+2wAcosy '

npwen® ! -p Yupdwl Ynepned funiph wugwd Swlwwwnhh
GpwnpnLpp)ynLUl E yhuwnwnwudwlu wwhpne j pnL d:

g wuly)ynLul wgnned E Yuwupdwl wulyjwlt Jpw, hGwmbwpwn Lwl®
pwn2h ntdh Wédn&ddnn funthh wyunundwlu UndGUwh ypw: tunthh pbpnt @) wl
e, wuly) wlu hnppwgdwl U tnwnwbdwl @4 wpwgnt @) wu JGédwgdwlu hGwn =
wuyjynrup Ynppwunctd E: Jwpdwnpyubtpp gnryg GUu wdbL, np
2winwpwpny npn2 dGpGuwubph dnwn (KMM-2, -2 b wy L U) e wulyjyneup
J6é £ funbhh pbpnipejwl wulyjnLUhg: HMw guwulw h sE, npndhbwnl
unpduw SwupwptnUjwsnL @) wl nGwpni J Y uwp Jdwiu thhnepno d
wnwe wuntd GU [ pwgnLrghsg nhdwnpnLp)netulbp: UyuphlUpl, &ndynn
funtph pGepnLpEjwu wuyynrlbp wbuwp E puwupbp GLuUGLn a,=c¢
ww) Jwuhg:

YUmpdwlu hnepned 26pwh yept ph pwpépnepyneup npn2yne J E.

hysn = l(tga, — tge) : 1.7)
dwywagésnid U2Jws wpunwhwj Nt ) wu wndtpp dnwnn E qpnj hl,
ntLuwh Ywpt h E hwdwnG, np wn thnepned 26pwp hwughuwm E, s h
wnyynLtd funhh hwppnip)ntUhg, wi dphw U fjunwuntd E 1 YGune d
(UYy.1.15, w):
Thuwnynn gnrpnid hnnh nG$dnpdwghw h nLdp’ Py, wuwuuhy

funthh hwdGdwwin g huh qgw hnpGU thnpp, npnyhbunt Lwruwwuuhy funthu
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nLuh pGpnLpe)wlu UG wuly)ynLl, pwu dnddnnp (Yupdwlu thnepned) b
hGun punniunctd E fundhh dpw h wdpnne 26Gpwh dUu2nudp, huly
dnéddnn funbp  Jhw U npwdh dwup:Snrwnmywpywsd 26pup 2wypwnyne d £
Lshhwdnitd junhh Jwytpunt j phl:

Swunwuynn funthh hwdwn 2Gpwh pwunduwlu gnpéplupwgh wnwe hl
thnepned pwp2w hu nhdwnpnep) ntup unwgyne d £ hGwluy wp Gpynt
pwnwnphgUtiph gnudwnhg Py, U Py,

Ppun = Ppeg + Py (1.8)
bus wGu gnLjg GU wvw hu hupJwpyubpp, 1 YGwhg 3 YGw funihp
wnwgnfuw G nt cwdwbwy, 26pwp sh bhnfuntd hp GpywnpnLppyneup L
uwhntd E fnbhh dwybGpunc)ypend: UWn nGwpnid wnbnuwdgnfudwl
hwpwpGpwywlu wpwgnepyntup 2 YGuwned dJGéSwuntd E dJhlUgl
wnwybtip wgnt ) U wndtpp.
Vol (1.9)

+wdcosy :
COSC

Wunthtwh Vv,,...-0 3 UGunLtd nwnuntd E gpn: IGunwguwy ni d,
Jhusgbwnydbrp,yupdws 26pup 2wnpdyntd £ fjunthph htwnmdhwuhl:

Epypnpn dnepned, wnp 3 4Gwhg 5 ytwm wmEnwihnfulwl dwdwuwy,
pwgwndwy 2 wnddJduwl nLnnnLpE)nLlup punLpwapynLtd E £ e

wuyjnrund, npp punpn2ntd £ funthh wmEnwipnfunLt ey nLtup 2 wnpwdwu
thnep nL d.

ctgy : (1.10)

Ept =e=0({UY.1.15,q), wwyw funthp L Upw ypw gwuynn 26pwp Ywpne Yy
wEtnwhnfwned GUunLnnwaény ybp:
TYhunwnpyynn nbwpep wEnh ncup hGwuy w ww Jwuh nGwpni J.

tas — TV
g ity 2ewdziny

cosy = TVhu _ 1’5?% : (111)

2emd
Swunwuynn funthp unynpwpwn Ynzwm vhwgyws £ [ hunctd wnglh
&nddnn Jwnhl:
Rwuquwh P,,, hubGpghwlu hwnpwhwnt|hu® Hupdws 26Lpwh
wantgnirpjnilup funthh Jpw puyuwy ynrd E npwbu 8néynn funthh
2upndwpbp: Wn nidh Gpyw bwywl pwnwnphgp, £>=0 nbuwpncd,

hptuhg uGpyw wgunctd E wwhwugynn pwnz2h nLdh JGé& Juwup,
(UYy.1.15, n):
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Lwn2h ntdh Jh dwup Swmwyned E Unpdw, ptrUdwdnLp) wlu U
mbnuwp wndh hwppnLrp)nLunctd puwunwéd 26pup uwhb nL dwdwlwy
wnwe wgwd 2 hdwl ntdbph hwnpwhwpdwlu ypw: lunthh Jwybplunej pny
2Gpwh hwJwuwpws wh 2wpddwu nGwpenid, wn nodbpp Ywnpb h E
npn2t| hGwl) w pwlwsluny.

p — g Smeytfoosa ’ (1.12)

cos @, +fsin e,

npuwtn” 6 -U funthh ypw gubdnn 2Gpwh quugwsu &£, f-p° hnnh U
funthh Uhe b 2 hduit gnpédwyhgp:

Epp =<0 (UY.1.15,p), w uhUupl cosy = 1,57V,,/«A, funthh b nwhn fud wl
ntnnipejnibup 26nws £ ninnwdhghg nbwh Unnp, Jdbtptlw h
2wnddwup hwjwnwy: Gt = wulyjynrtlup J6& E hnnh U funithh
duytpuncyph 2thdwb wuyjyncuhg uwd hwjwuwn E npuwl, www 2 Gpup
Juntd E wu2wnd, huy funp wbnwpnfwned E Ynnp® dGpLlUw h
2wnddwup hwywnwy: Ujyuwhuny, et 26pup wuwuhy funhnyd pwunb| hu
ntwywhy nedbpp wgnned GU Jhwdwdwlwy, www wnwwnwuynn funthny
hnnp pwunt| hu,ncdtipp Jhwowdwuwy s 6U wgnned L wyn nutdtiph JUp
Jwul punncudnetd E funthh 2wpdwpbtpny,npp pwgwuwywu Gplunt jpE:

ALunctdbwuhpGUp 2wpudwl thne ned funthh wp fuuwnwuph ntdhdh
Gptp yhdwyubpp (LY. 1.16):

Ly.1.16. cwypuwdwl thnep ned upwsd hnnup Gpwh nE$npdwghwy h

punL ) pp.
wbpp £=0,p-tinp e=0,g-tpp < 0:
Eprpt =0, www wd<157V/cos(a+f) U hnnupbtpwh 2wnpdnLdp

2nywé E nunnwdhghg nbwh JGpblw h 2wpddwl nonnnLp) nLlup:
Innup tpwp 2wndyned E wnwye (UY. 1.16, w): Uy u nGwpnt d hnnup Gpwh
JjnLpwpwus jnep YGwh pwgwpédwly wpwagnip)nilup 0-hg nwnlnud E
npuEt v, npp hwdwwwwnwu fuuune Jd £ funthhg wug wind b nt wwhhU 2 Gpuwh
wnwagnt @) wup®
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vy = wAsing,,

npwnbtn® @-U funthhg 26pwh wlupgwndwu ulygpned 2nLnwndhyh
wunndwl wuyj neul E:

Innuwe tpwhlu hwnnpndnn dhghU wpwgwgnudp npn2ynu d E.

j=v/t,

npntn® U 2wpudwlt  thnepned  hnnup Gpwh P wg wné wy
wpwgnrp)nLrult E, t-U 2wypudwlt uygphg JdphlUsglb wlupwndwl wwhl
pujwsd cwdwluwyn.

t=(m+ @y) /e

vwpwgnLpe)nLtup npn2dned E wpwgnep) ntbulUbph

GnwulyjnLlunLg (UY. 1.15, w).
v = wAsing,sin(a+ f) [cose
w unbwpnLd®
j = w?Asingysin(a + £)/[(7+ @, )coss]:

Innuptpwh  nhbwdhjwywlu dUdwl  hwnpwhwpdwl hwdwn,

wuhpwdG2wnnLdp npn2ync d k.
R = mw?Asingysin(a + f)/[(7+ ¢,)cose]: (1.13)

Wuntdh pwnuwnnhgp hptuhg Yutpyw wgluh pwnzh nidh

pwnwnphgutipnhg Utyp e=0nbwpnt J.
R' = mw?Asingysin(a + B)tge/[(7w+ @, )cose];

Epp e= 0, wyw2 wypundwl hne ned punhwlunep pwn2h nLdp

wnwdb| wgnLjul E.

R, .. =k,bh+ bhl'pgtg(a+ @)+ bhl'pgw?Asingysin(a + B)tgs /(7w + @,),
npwtn” '-p nwunwbudwl Yhuwihne [ ne d funthh wugwd 6§ wbwwwnhh
hunjwéU E.
I'=[2wAcos(a + ) + Vr]/ew:

Eprbt ==0, wyw wA=157V/cos(a+f), funtph Yypw wgnnn R nLdl
nLnnywd £ nunnwdhgny (UY.1.16, p), wy u nGwpnLd sh wannrd punzh
nLdh ypw, pwuh np npwhnphgnwywlu pwnwnphsp hwjwuwn £ 0-h:

Epbt =<0, wyw wAd > 1,57V/cos(a+5) U funthh nL npw ypw gunudnn
hnnupGpwh 2wnpddwu nunnnrpeynLup 26nywd E nunnwdhghg L
ntLnnywé £ JGpGlUw h 2wpddwlup hwywnwy (LY. 1.16, ¢): Uy u nGwpnL U
R ntdpnsg UhwUsh wnwpwguned pwp2w) hu nhdwnpnep)nel, w | u
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Lwwuunced £ JdGpGUw h 2wnddwup, hwdwpyned E wuwbu Yng Jws
shpnn«nLtd: CunhwunLtp pwn2h nudp UWwgwgnejJubu E bLnpn2ynLd E
ntdnpdwghw hu hnnh nhdunpnip) wl dhgngny.

R,... = k,bh:

Epp >¢, wyw hnnh Yyupywd dwup pwpédpwuned £ funthh ypwy ny
JGpb U Jhwdwdwlbwy npw wp fuunwbpw) hu dwytGpunctjypny uwhne d
utppl, huy Gpp ea<e, wywhnnp wtnuwp wpnddne d £ funitph hGinndhwuhU®
wnwlug uwhbG nL:

Ujuwhuny, funthhU hwpywnpuwywl vnwnwune d hwnnpnbip phLj|
E ww hu UJwabgub| pwp2w hUu nhdwnpnip)neup h hughy Upw, np
wnwudlbwgyne U Gl hnnuwp Gpuwh YunpdJduwl, pwnaénwgJuwu L
ntdénpdwghw h  gnpépupwglubtpp, hlUswGu ULUwlh »hpnn« nLdh
unminédwlu hupyhU: Uyn wuwnbwnny, ptppwhwjwph dwdwlwy hnnh
pwundwu hwdwn nwwnwbynn funhph yhpwenedp hwdwnpynod E
Lwywuinwywhwnpdwn LW EUGpgwilw) nn:

Luwlnhs pwuynpwywl opquwuh wp fuunwuph npwyh qUlwhuwndwl
UwplUunp wbfuun nghwjwu gnLguwuhy E hwdwpyncd  Yupygws
hnnup Gpwh thnfuunpJdwu wpwagne ) nLup: UpJdwnwww] wpwwwne nubph
pGppwhwjwph JdGptlUwlubph wwnwuynn funthtph LU dwnbph wnwdb|
wnnjnLrlbwdbwn wp fuunwbpw) hu ntdhdubph pwgwhuw lndwl hwdwn
ntuntdbwuhpyb|] E hnnh fuunbdwl gnpéplupwgp funthh dwytpunc j ph
Jpuw[44, 84]:

funthh Jwytpunc)yph dpw hnnwy hu JwuUuhyubpp gquuyntd GU
hGwlj w nLrdbph wgnbgnip)wl wwy dwupnipjwlu nLd” G =mg,
hGwmwnwnéd-hwdplUpwg 2wndnLtdhg wnwpwgwd hubpghw h nLd”™ J=my,
Unpdwy N nid, 2dwl nLd” F=FfN U funthh wnguh dwuntd gwuynn
sntdnpduwgyws hnnh nGwyghwy h PnLd:

Npn2 nGwpbtpnid, wnpdwunwww, wpwwywne nubph pGppwhw]wph
dwdwuwy, ybpehl nLdl punhwlupwwtu pwgwyw ntd E, hGwlhwpwn
funthnd hnnh pwunduwlu U fjuwunUdwl gnpépUpwgp YnruntdbwuhpGlUp
wnwlug PnLdp hup yh wnUbG nL:

Rnnp Junctd E funthh dwyGpunce ) phU Jhw U wy U nGwne d, Gpp
N=06bpt wu ww Jwup sh pwjwpwnyne d, wyw hnnh dwubhyubpp
wnydned,wupwnyne d GU funthhg: Uy n nGwpnL d™ F = fN =0:
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Ul o wund wil wwhhlu nhuwdhywywu hwjwuwpwy2nnt @) wlu

hwdwuwnnedp Ywnt h Egptl hGwn) w wGupny.
w?Acoswtysinf = geosa, ywd coswt, = geosa /(wAsinf) = K: (1.14)

U2 funwuph ntGdhdh K gnpédwygh Jdhgngny JwnG h E nuwnb|
fun thh wp fuunwupwy hu ntdhdh JwuhU® Gt K=1, wwyw hnnuwy hl
dwulUhyubph 2wndnLdp wntnh E nLuGuncd wnwlug fun thh
dwybtplunc ) phg wlupgwndwlu, Ltpt K<1 2wndnidp Juwuwpynid E
gwnybtnpny:

dwdwbwyh wwhp, npp hwdwwwuwnwu fuuune J £ funthh dwytplbne j phg
JduwubhyUubph wup wndwu uyqgphU,npn2yntd £ hGwnl) w pwlwsluny.

ty = arccos[ geoe ]fw: (1.15)

widsing

uddniptrnd wu grfuncd 2wpwnpywsp” wnpnn GUup wubip, np
&ndynn funthh g fuudnp wnwdb nLp)ntultphg Jeyp hwdwnpdno d E
Upwydpw2tpwh ynLcrnwydwl pwgwlw) nL ey nLlp [62]:

Uwywj U d6nédynn funthb ntup s whwquwlug pwpn junnrgywdp, nLuwh
JtUp wnwpwnyned Gup 33 ww Jwulbpnid Yppwnt wwuuhy funihny
Gwpuwndh| whwu® LpwgnLghg dwybipny Lwl J G fuwl h Y wy wu
Un2 nwdwuphg -thnfuwyphsg :

1.4. YursnNskhL b YUESSkH LURLUSNEF LYU3hL UTUHUUL
SthLNL NGhUSk ULR MrUdESSNE @3SNEFLLC

Innh Uwhwgwupw hU  JawyniLpjwu wthlungnghw h 6&h2w
puupnLrpynitup Jwuwndned £ ng Jhw U Jepblw wgyws gqguuph
(wnLuyh) G fuun| ngh wywu gnpéplupwgh wg nnwb futh Y wy wu
wwhwlug UGphU hwdwwwnwu fut, wy b gnegb U wy U wnwdbp wplnp
LgwbwynLrpeyntt nLcluph hwnjwwbu  wpJdwnwww, wpwwunnh  npwyny
pGppwhwjwph hpwywbwgdwlu hwdwp: Uyn wbuwybwhg nnuwghnl
hnnuwd? wy dpbGlwlbnp Uh 2uwnp G fuun nghwy wl
gnpénnnLrpejnLtultph hwdwn hwdwnpdned 6GU pwqghuw hU: UGp
Unnuhg nruntdbwuhpyt GU nnuwghnl hnnwd2 wynn JGpGluwubph
UhpwnnLp) wdp hGuwl ) wi pwquwj hu G fuun nghwy wu
gnpénnnLpejnLulbtpp.
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1. 3nnh JdhglUuwptpuw hu thupbgdwlt U Lwhwguwupw) hu $pLGgduwl
hwdwwnbtnnudp pnruwywlt Jbwgnpnubph dwupwgnodny, nuwp wh
hwpptgntdny Whnnh funwgnL uny,

2. 3nnh bwuwgwlupwy hu $nptgne J [100]:

Rnnh JholUwptpuw hu tfupnbgdwlu U Lwmwuwgwupw hu $pLqUuuwl
hwdwintnnudp pnruwjwlt dJdbwgnpnubph dJwlupwgnidny, nuwpuwh
hwnpbtgntdndy U hnnh fwwgnidnd gnpénnnip) wlu Juwuownnedp
Jwnplnnp E dwunp hnnbnph hhdJUwy wu V] Lwuwgwupwy hlu
dowynrpyneuutph dwdwbwy: Uy U hwnjwwbu wbunp E hpwjwuwgyh
Uwnpnundh h bwhuwnb ydwl J2 wynt pj wu hwdwn:

Innh Jwynrpe) wu U Jws mGuung nghwlu gwuyw h E hpwywluwglb|
hwupp wnwpnwspUtpnid U JhUuslu 8 phpnip)nillbtph ypw Uwhunpn
dgwywpnejuh pbppwhwjwphg hGwn, wwpptp JGfuwuphlywywu Yuwqd
nLutgnn hnnGpnod, hwwnywwtbu Gwdwj hu Jwnd wé hnnGnph
nwpnwspubpned® hnnh Jhusglb 22% funlbwdnipjwlu U pnLuwyuwl
dUwgnnpnubph nuwp wh duytptupl dhugu 3 whw puwlwyh
wnw) nLp)wu nGwpned: Innh JwytGpbupl pnruwywlu Juwgnpnubph
pwgwyw nLp) wu dwdwbwy pnL )L wunbh funbwdnL ey nLup swtwp £
wuglh 25%-hg:

Rnnh Uwhuguwlupw) hu $pbgnedp gnpdltwywunptl guwlulyw h E
hpwjwuwglUb| Jwupwubpd dwywpniLjubph pGppwhwjwphg hbGun,
huswbu Uwl nnnqgb h hnnGpntd Juwpun$hph wncUuyh nuwpuwh
U wiuwwwienn wu ind wit ¢ wid witwiy

Swulyw h E Jwpundh| p dowyb gwupup ngwlwnnt @) wu
Uhpwnnidny: Lwjwgne j U bwiunpnubp GU hwdwpynt d wp Lbwbwgwl L
g wn U wl wg wu hwgwpnijubpp, GpGpunLyp, pwgUuwd) w
funnwpne jubpp: Lwiunpnh puwpnLp) wu hwdwp wuhpwdb2wn £ hwp yh
wnUG gnwhwywlunL ) nLlup:

$ntqwy hu  pdpniyh U thupnbgunn  pwehlUtph  hwduwwnbn
up fuunwuph  duwdwuwy hnnh Jbphu 26pwh Jwqup wtwp E | huh
w bwhuhb, hUswhuhlt upwpwil puwehyubtph hbGwn pdpnLyh
wp fuunwuph nGwened E:bpUs wGu Lwl wawrp £ wywhndyh dn| wfunwwy hu
pnruwywuncp) wlu wdpnngndyhb Yupned U gptprt 50% pniuwywl
JUwgnpnutph Jwlpwgncd dhuglu 15 ud GpUwpnip) wdp
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hwnwsubpnod: 3nnh Jgwydws 26pwh funnL ey ncup wGuwp £E | huh 0,9
gn/ud®~hg  ng  wwyuwu, nupwh  Jdwytipuniyph  pnLy | wnbi b
pUpwy UnLp)nLtlup  £3ud:

Innh bwhrwgwupw) hu $ptgnedl wwywhnyni d E hwdwwnwpwd hwnpe
dowynrLpynLtl® 3-8ud funpnLp) wdp:

Uwpundhr h vncuyh hwdwnpn LwmwunGuywd nupwnp gwulw h E
dowyby Jdhdhw U $pbgnrdny: dptqdwu gnnpdénnnipe) wl dwdwlwy
Jwuowndned E wwpwpuwwuj neph, hGpphghnubph, JdG hnpwuwubnph
hwd wuwnpuws whfuwnUnt d hnnup Gpwh hGw:

dptqw) hu dwynrdhg htGun hnnnid sdwupdws quuguwsdh
pwluwynLpE) nLlp s Wt unp E wugluh 15%-n, pdphyubnph
pwnédpnLpynLup’ 5ud-hg: Sptquwy hu dwynLdhg htwun hnnh ytnphu
2pwh fmmnipeynLup wewp £ [ hUh 0,9-1,1gnp/ud®h uwhdwllbpne U:

Uhbsglu wbybip Ywunwnpnynn hwdwunwpnws d2 wyni p) wu dwdwlwy
Lbwiunpnnn wGhung nghwywu gnpénnnLr ey nLrlulubtpp wewnp £ wywhnyblu
hGwl) w wwhwuglubtinp.

 wnwpwnpyws funpnLp)ntlUhg 26nnudp s wGwp £ wuguh £2ud-p,

* nuguwh Juwybpunijpp wiwe E Lhup hupptgqws, puphllGnh

UhghUpwndpnLeynelp 5ud-hg ng 2 ww:

UGfluwbhwywu Jwadnd wjwy hu hnntGph hwdwp wulyb nLg wnwy
fmnnLp) nLup wtwpe E | huh 1,1-1,2 gp/ud®h uvwhdwllUbpnid: Yup wh
ptpnLe)nLUp [w Uwyh ninnnipjuwip suwswp £ wuguh 4%p, huy
GpUw bwywu nLnnnt ) wdp: 7°%p:

Uwngbph wynudwlt dwdwuwy dhe2wnpw hu hGnwynpnLp)nLlp
wGwnp E [ hUuph 140 ud: Rbwpwynp E pdptph wynuncd thnhn fuwly wl
dhe2wnpw) hu LwunLp)wdp” g n wnh wy wu g h tnwh & nwig n nwy wu
hhdUuwpyubph Gpupfuudnpdwlup hwdwwwnwu fudt: Unwe wnpdwsdhg
Lw UnLpjwlupnL)wnmbh26nnudp f2ud E:

Swnpuwnpywdéhg hGwunc J E, nn U2 Jwé G fuun ngh wy wu
gnpénnnLrpe)ynLtultph Jwuwpdwl hwdwp gwuw h E puunpbp wl
dopGUwubpp, npnup YphpwrtL h GU vwpptp gnwhubpnod: LaGUpR, np
wywhy wp fuwnwbipw) hu opquwuubpny hnnwdpwy JGpGluwubph
oguwagnpédwl dwyw, Ubpp qqw h UG6& GLU: Hpwlp wuthnfuuphub h Gl
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dwunp, gGpfunbwy hnntph Uwmwwgwlupw hU  wwwnpwuwnL ) wu U
dhe2wnpw hu d2wynt ) wl dwdwlwy [100, 105]:

1.5. YUrsSN$khLUGUFP Eruruueuyuul auk UuesEUusShr4yuuuL
unacLcC

Un2 nwdwunphyg -thnfuwynhg ht ubplyuw wgdnn  wagnpnwt fulhywy wu
wwhwlueUbpp W wGfuung nghwywlu nL 2whwgnpdwywl wwpwdbuwpbpl
wdpnnenep)wlp Juuwjws GU ww wpwdwpgh GpYypws whwywu a&lup
punLpwgnnn wwpnwdtGwptph hGuw:

Mw wpwdwpagh duwdnpduwl U wihub wy wu 2pgwunc J Jdwnagh
pun, w btwywu wpndhyp Ywpnn £ L hubp ubnwuwédl, Gnwlulyjne Lwa l,
wwnpnwenw ht b w U, vwyw U pppwhwjwph dwdwlbwy nwnuncd E
tnwnwlugp Erhwunhn, nph Gplywnpn wnwugpp nLnnyws E plup
Gpyupnip) wdp, JhghU wnwugpp” L[wunitpjuwp U  tnppp’
hwuwnL ) wu nLnnnLp) wlp:

fUpupwnpny nupwh Jwybplbnijph wpndhpp wnwphl
hw wgphg Yuptih E UGpYw wglbGL UYnp qgéh wwnppbpuwywl
$ncuyghw h hwjwuwnnedny: Ipdudbrny Grwllyj ne Uws whwly wu
$nLulyghwtutph gpwbhlylubph dbppnrdnipjwu Ypw Quuyhlp
wpnndhrh hwjwuwpnedp, w U nbwph hwdwp, Gpp opnhlUwwnubph
wnwugplt punncudned E npwtu pdph uhdbuphw h wnuwlgp,
Utpywy wgpt| £ hGwlu) w wGupny (LY. 1.17) [101].

y= g COSX , (1.16)

npwen y-p  nhwwnydnn  YGwh opnhlwnt E, d, Ap° pdph
pwpénpnirpjnilp, d, x-p° pdph duwybpluntjph wpndhpp Ywqdnn Ynp
g6h yGwtph wpughup, wuwn.:

Npwtu opnhlbwwnubnph wnwugp punnLcUbnd wynuh uphdGunphwy h
wnwugpp Jytpp pEGpJwé hwjwuwpne dp Yypunneuh hGwl) w wmGupp.

v = ; (1— cosx): (2.27)

Uwnpngh Ynnwy ht dwybplunL)ph wnwudhl dwubph hn